UGC NET 2021 Human Rights and Duties

Topic:- GP_20NOV_A_SH2

1)

The given table presents the percentage distribution of teachers and ratio of male to female teachers working in a
university in six different subjects (A-F). There is a total number of 1600 teachers in the University. Based on the data in
the table, answer the questions that follow

Subject-wise Distribution of Teachers

Subjects |Percentage (%) of TeachersRatio of Male to Female Teachers|
A 13% 1:7
B 18% 5:3
(o 12% 1:3
D 21% 3:4
E 14% 9:5
F 22% 7:9

ArRvufl # fSu s1u sifds] @ meR U gosll & 3= difsme @

forgoiferRaa vl fdpil Rrafdencrn 3 31 - 31l ferll 3 (T-u) dRRA reAa™] oI YfeIord scol 3R 3EATUd] dal eATTUPI3i @ ourd
@I YFdd ol 3 faeafdencry i et sieamaml i e 1600 3 wrvil 3 1 o1 sifws! @ R R Yol 1-5 ab D IR S &

31eMuehl oI faeRIar d§cot ©

13% 1:7
18% 5:3
12% 1:3
21% 3:4
14% 9:5
22% 7:9

frerer areemuast B gferoradr (% )sremuds itz sre=mftrpsit bt gfererdar
A
B
o
D
E
F

Total number of teachers in Subject-C is approximately what percent of the total number of female teachers in Subject-D
and Subject-A together?

ferer=r-C 3 sremaed] I et A, fawR-D siiz faeRr-A 3 aAfdafera su A sreanftopisii & aget e @1 gferera 3 ?

[Question ID = 3626][Question Description = S2_qSNz_PG_GP4_Q01]
1. 58

[Option ID = 14501]
2. 43

[Option ID = 14502]
3. 47

[Option ID = 14503]
4. 51

[Option ID = 14504]
Correct Answer :-
e 58

[Option ID = 14501]

2)

The given table presents the percentage distribution of teachers and ratio of male to female teachers working in a
university in six different subjects (A-F). There is a total number of 1600 teachers in the University. Based on the data in
the table, answer the questions that follow

Subject-wise Distribution of Teachers




Subjects Percentage (%) of TeachersRatio of Male to Female Teachers|
A 13% 1:7
B 18% 5:3
C 12% 1:3
D 21% 3:4
E 14% 9:5
F 22% 7:9

arufl d fSu s1u sifdst @ 3R U gesll @ 3a= difsme @

forrarferRaa 1rvfl fp1l feraferenert 3 sremer - 3rcmT eIl 3 (T-uw) PRIz srearuwm] @1 gferord sl 3R [eATUD] qell 3reATfiIsi & 3rofurd
Dl yqd @il 8 faeafienert 3 qe sreamael & i 1600 & ARl # 621 3R sifds! @ MR R Yool 1-5 dp D IR S :

31eATUD] DI fASRIaR dear :

13% 1:7
18% 5:3
12% 1:3
21% 3:4
14% 9:5
22% 7:9

fRrerr preamuast &t yfereraar (% )siearaw siiz sreenfr1ail S Rt
A
B
C
D
E
F

What is the difference between the total number of teachers in Subject-F and the total number of male teachers in
Subject-A and Subject-B together?

fererr-F 3 gt srezmaepl &b s SiiR farerI-A aen faerRr-B 3 wifdafera su A sreamuen] 6t iz o &4 fopdon siar 3 ?

[Question ID = 3627][Question Description = S2_qSNz_PG_GP4_Q02]

1. 192

[Option ID = 14505]
2. 182

[Option ID = 14506]
3. 146

[Option ID = 14507]
4. 136

[Option ID = 14508]
Correct Answer :-
e 192

[Option ID = 14505]

3)

The given table presents the percentage distribution of teachers and ratio of male to female teachers working in a
university in six different subjects (A-F). There is a total number of 1600 teachers in the University. Based on the data in
the table, answer the questions that follow

Subject-wise Distribution of Teachers

Subjects Percentage (%) of TeachersRatio of Male to Female Teachers|
A 13% 1:7
B 18% 5:3
C 12% 1:3
D 21% 3:4
E 14% 9:5
F 22% 7:9

arvil 3 U o1 sifost & smem uz gosil @ 3ar i :

forarferRaa rvfl fp1 feraferenert 3 sremer - 3rcmT eIl 3 (T-uws) PRIz srearuwm] @1 gfererd dcel 3R [eATUD] del 3reATfdIsii & 3ro[urd
Dl yqd @il 8 faeafdener 3 @et el &l in 1600 & ARl 3 621 3R Sifps] @ MR R Yool 1-5 dd D IR S :



31EATUD] DI fARIaR dear :

frerr sreemaast Y yfreraar (% )sieamu st sieenfiriaii B g
A 13% 1:7
B 18% 5:3
C 12% 1:3
D 21% 3:4
E 14% 9:5
F 22% 7:9

What is the difference between the number of female teachers in Subject-F and the number of male teachers in Subject-
c?

faerRr-F 3 sreanftrastsii b Jizean siik fawRr-C 3 sieamaat bl Jizen @ dka fovdetr siaz 3 ?

[Question ID = 3628][Question Description = S2_qSNz_PG_GP4_Q03]
1. 156

[Option ID = 14509]
2. 160

[Option ID = 14510]
3. 150

[Option ID = 14511]
4. 153

[Option ID = 14512]
Correct Answer :-
e 156

[Option ID = 14509]

4)

The given table presents the percentage distribution of teachers and ratio of male to female teachers working in a
university in six different subjects (A-F). There is a total number of 1600 teachers in the University. Based on the data in
the table, answer the questions that follow

Subject-wise Distribution of Teachers

Subjects |Percentage (%) of TeachersRatio of Male to Female Teachers|
A 13% 1:7
B 18% 5:3
C 12% 1:3
D 21% 3:4
E 14% 9:5
F 22% 7:9

aroft # fSu 51U sifws] @ smemR uz gesll @ 3a= difsme @

foreatferRaa 1rufl et feraferenert 3 sremer - sremT foreril 3 (T-uw) PRia sreamu®! @1 gfererd dcel 3R s[eATUD] eIl eATfieIsii & ofurd
@l yFgd ol 3 feeafdencrn 3 @et sieamaml &f e 1600 3 Arvil 3 R oR) sifds! @ R R Yool 1-5 b D IR S &

31EATUD] DI fARIaR dear :

fRrerr reemuast 1 yfereraan (% )sieama st sieenfRriaii Bt g
A 13% 1:7
B 18% 5:3
C 12% 1:3
D 21% 3:4
E 14% 9:5
F 22% 7:9

What is the total number of male teachers in the University?



forafiencrr 3 sreamaamt &t aer Iz Rl 3 ?

[Question ID = 3629][Question Description = S2_qSNz_PG_GP4_Q04]
1. 696

[Option ID = 14513]
2. 702

[Option ID = 14514]
3. 712

[Option ID = 14515]
4. 668

[Option ID = 14516]
Correct Answer :-
® 696

[Option ID = 14513]

5)

The given table presents the percentage distribution of teachers and ratio of male to female teachers working in a
university in six different subjects (A-F). There is a total number of 1600 teachers in the University. Based on the data in
the table, answer the questions that follow

Subject-wise Distribution of Teachers

Subjects Percentage (%) of TeachersRatio of Male to Female Teachers|
A 13% 1:7
B 18% 5:3
C 12% 1:3
D 21% 3:4
E 14% 9:5
F 22% 7:9

arufl d fSu s1u sifds] @ smeR U gesll @ 3az difsme @

forrarferRaa 1rufl fp=1l feraferenert 3 srerer - 3rcrT eIl 3 (T-uw) PRixa srearuwm] @1 gfererd s 3R [eATUD] el 3reATfieIsii & sro[urd
@l yqd @il 8 faeafdener 3 @et sreamael & i 1600 & ARl & 621 3R sifos! @ MR R Yool 1-5 b D IR S :

31eAUD] DI fASRIaR dear :
Rrerr preamuast &t yfererar (% )siearaw aiiz sl S gt
A 13% 1:7
B 18% 5:3
C 12% 1:3
D 21% 3:4
E 14% 9:5
F 22% 7:9

Which is the ratio of the number of female teachers in Subject-E to the number of male teachers in Subject-D?

fererr-E 3 srenftrepisii &bl Fizen @ gfererd o siopurd fRrerr-D 3 sreamaosl &t e o1 Reaen 3 ?
[Question ID = 3630][Question Description = S2_qSNz_PG_GP4_Q05]
1. 5:9

[Option ID = 14517]
2.2:9

[Option ID = 14518]
3.3:7

[Option ID = 14519]
4. 5:3

[Option ID = 14520]
Correct Answer :-
e 5:9

[Option ID = 14517]



Topic:- GP_20NOV_B_SH2

1) The variability or flexibility of delivery during the presentation of a lesson by a teacher is called as

U IERTUD HRI UIS D Yl & Sikrel Ydfer & ufaderoefierar sterar sia=rar oot fop21 su 3 Siren strar 3 ?

[Question ID = 3631][Question Description = S2_qSNz_PG_GP4_Q06]
Thinking curriculum/fRider urgeicpa [Option ID = 14521]

Instructional variety/aifdiferes fafderar [Option ID = 14522]

Comprehension/zmtst [Option ID = 14523]

Procedural knowledge/gfégziicares siret [Option ID = 14524]

A WN -

Correct Answer :-

e Thinking curriculum/Rider urgerapa [Option ID = 14521]

2) Ministry of Education, Government of India's, SWAYAM platform for offering MOOCs has how many quadrants for
designing courses?

R IRDR D 181 HGIeRI gRI Fanferd wa.siLal. 2. (MOOCs) ygrot @20l 3q =i (SWAYAM) sia & 1= ol dottol (RBsimsfoier) @ fere
fopaer agels 3 ?

[Question ID = 3632][Question Description = S2_qSNz_PG_GP4_Q07]

1. 2 Quadrants/2 agsfa [Option ID = 14525]

2. 4 Quadrants/4 aqgefe [Option ID = 14526]

3. 6 Quadrants/6 aqgefa [Option ID = 14527]
4. 8 Quadrants/8 agefe [Option ID = 14528]

Correct Answer :-
® 2 Quadrants/2 agefm [Option ID = 14525]

3) Given below are two statements
Statement I: All components of working memory are in place by the age of 4 in a child as a development stage

Statement Il: If a child does not continue to pay attention to information, the activation level weakens and finally drops so
low that the information cannot be reactivated and it disappears altogether

In light of the above statements, choose the most appropriate answer from the options given below

il Jf Dol fdu sre 3 ¢
Dl - | : R Ef sraren @ Fu A 4 ad 6l 39 D arerd I fpmefia Fafar & Wil acd U Fere o= 3id 3

@l - |l : Jaensii & yfd Aafe vw dicid cRIdaR €161 ofdl SdI, dl 3cYRUI TR DaHsIR Bldl 3 3R 3fod 3 sdell BR Sidr 3 &b el I Yol:
Ieyfea ordl fopan s Arar 3R a6 guizu A fagsy 8 smar 3

SURITb Dol D 3Iclid H, ofld U s1w iyl 3 A Jt IR BI TwRIel HIferw :
[Question ID = 3633][Question Description = S2_qSNz_PG_GP4_Q08]

1. Both Statement | and Statement Il are correct/@perm | 3iiz |l Sieit 2@t & [Option ID = 14529]

2. Both Statement | and Statement Il are incorrect/aeret | 3z || Sl sleta & [Option ID = 14530]

3. Statement | is correct but Statement Il is incorrect/werwr | 3@t 8, fbog @eret |l siera & [Option ID = 14531]
4. Statement | is incorrect but Statement Il is correct/@emt | swer 8, fboq @eret |l 3t & [Option ID = 14532]

Correct Answer :-
e Both Statement | and Statement Il are correct/@emr | 3iiz | 2leif 38t @ [Option ID = 14529]

4) Match List | with List Il

Neural system of BrainType of Memory

A. Conscious I. Implicit Memory
B. Unconscious Il. Procedural Memory|
C. Motor skills Ill. Explicit Memory

D. Own experiences |IV. Episodic Memory
Choose the correct answer from the options given below:

gl -1 @1 3 -1l A Fgafera Hifste ¢

Rxet -1 Rxeht -l

(aif¥eea @1 segfor el deq) (Ffer gor)

A. Aot |, siafoifda gfer
B. 3rIdet Il. orifaftrs Fgfa




C. Tofiler wioret (i Roc) Ill. goerep Fggfer

D. sircatopsia IV. nBre Fgfer
il feu o1u faasedl 3 A A8 3R gforo :

[Question ID = 3634][Question Description = S2_qSNz_PG_GP4_Q09]

A-1V,B-1ll,C-1,D- Il [Option ID = 14533]
A-1l,B-1,C-1l,D - IV [Option ID = 14534]
A-1,B-1I,C-1V, D - Ill [Option ID = 14535]
A-1,B -1V, C-1ll, D - [Option ID = 14536]

A w N =

Correct Answer :-
e A-IV,B-Ill,C-1,D- Il [Option ID = 14533]

5) Cognitive domain for behavioural objectives comprises which of these objectives?
A. Evaluation

B. Valuing

C. Comprehension

D. Precision

E. Knowledge

Choose the correct answer from the options given below:
RIGERAIET 3893l @ fé1e IHSATGIcAD &I 3 ol IL9AT I HdHIferee oo strer 3 :

A. Jcaiwor

B. e forerizur e

C. 3ast

D. remefar

E. sior

off fou s1u fyeseul 3 2 & Fa= goi ¢

[Question ID = 3635][Question Description = S2_qSNz_PG_GP4_Q10]
1. A, Band Conly/aaa A, B, C

[Option ID = 14537]

2. B, Cand D only/@ae B, C, D
[Option ID = 14538]

3. A, Cand Eonly/aaa A, C, E

[Option ID = 14539]
4. C,Dand Eonly/aaa C, D, E

[Option ID = 14540]

Correct Answer :-
e A BandConly/@ac A, B, C
[Option ID = 14537]
6) During research when we avoid speculative and metaphysical approaches and instead concentrate on studying
observable facts, it is called:

onter @ SIRIGl SId &3 MATRAHD i1 difeads zffedlvil A g 3 3z YeoiRr ael uz earer dfoga wd 3 dal A forsoifeiRaa 3 A o= war siar 3

[Question ID = 3636][Question Description = S2_qSNz_PG_GP4_Q11]
1. Feminism/am3tars [Option ID = 14541]

2. Ethnomethodology/gsuferfdrsirer [Option ID = 14542]

3. Constructionism/2izdaeicamdar [Option ID = 14543]

4. Positivism/forzrmcaaar [Option ID = 14544]

Correct Answer :-

e Feminism/amiarg [Option ID = 14541]

7) In research, the combination of different methods, study groups, local and temporal settings, and different theoretical
perspectives in dealing with a phenomenon is called:



fop2t uf¥acen & Jder 3 BRI B PR oNer 3 Riftoer UGeRN, 31¢RIeT ARl FeureiiRI Siiz SRRl frcRIRil & JiRilsiel Bt wad 3 :
[Question ID = 3637][Question Description = S2_qSNz_PG_GP4_Q12]

Triangulation/fggster [Option ID = 14545]

Content analysis/fawer Jmsf 3wt [Option ID = 14546]
Corpus/@mrda [Option ID = 14547]

Mediation/siezrzerar [Option ID = 14548]

A W N -

Correct Answer :-
e Triangulation/feprstior [Option ID = 14545]

8) Identify the CORRECT sequence of steps for the centroid method of factor analysis
A. Work out the sum of coefficients in each column of the correlation matrix

B. Compute a matrix of correlation

C. Obtain the Sum (T) of columns

D. Divide the sum of each column by the square root of (T)

Choose the correct answer from the options given below

Bac? feasyur & dogp uglt @ fere wedl @ Adiaw &I usare @3 :

A. Je3id ARTA D gRAD DIcid 3 VIl DI APIbd formrct

B. rside @ ka1 &l svren a3

C. ore @1 Arrwd (T) gra o3

D. gA® oIcid @ AR1wd @ (T) D ol A Renfra o3

il fou s1e fraseul 9 3 & Ia= goi ¢

[Question ID = 3638][Question Description = S2_qSNz_PG_GP4_Q13]

. A, C, D, B [Option ID = 14549]
C, B, A, D [Option ID = 14550]
B, A, C, D [Option ID = 14551]
B, C, A, D [Option ID = 14552]

1
2. ,
3.

4. B,C,

Correct Answer :-
e A, C, D, B[Option ID = 14549]

9) Match List | with List Il for scale construction techniques

List | List Il
A . I. Number of individual items are developed into
Arbitrary e .

a test which is given to a group of respondents
approach
B.
Consensus |Il. Scale is developed on an ad-hoc basis
approach
C. Iltem Ill. Chosen on the basis of their conforming to

/Analysis  |some ranking of items with ascending and
approach [descending discriminating power

D. .
. [IV. Panel of Judges evaluate the items chosen
Cumulative . .. .
for inclusion in the instrument
scales

Choose the correct answer from the options given below:

Lt -l oot 3 -1l A Fgafera HifSie :

et -1 et -1l
A. arelRes ||, sicIe1-31cTe1 AGT &I I3 @) v ure A fashha s sirar 3
efcmroT RRY IacIansil & s ot & sirar 3
B. srdaara
Il. acet taral @l faolR1a fosan S
dcel e uR SIIeI 3




C. 3¢ freaduvr |l 3mRIEE siiR sreRId) et 91ftp Afda o sicl &l gJufiasur
eftcmIur (bI IGTHUAT D IMIEMR UR TRIfold

D. it IV. ferae 3 onfdrer w0t D fere gofl 31 ISt DI FeAidol DI D
CatreTr fere forutirest o1 toter

il 3w o1 el 3 A At I gfom ©

[Question ID = 3639][Question Description = S2_qSNz_PG_GP4_Q14]
1. A-lILB-1,C-1,D-IV

[Option ID = 14553]
2. A-1l,B-1V,C-1,D-1l

[Option ID = 14554]
3.A-1,B-1l,C-1I,D-1IV

[Option ID = 14555]
4. A-IV,B-1,C-1I,D-1I

[Option ID = 14556]

Correct Answer :-
e A-IIlbB-Il,C-I,D-1IV

[Option ID = 14553]

10) Given below are two statements
Statement I: The base of the binary number system is 2.
Statement II: Binary addition is just like decimal addition except that the rules are much simpler.

In light of the above statements, choose the correct answer from the options given below

ofi <1 eror Ru sre 3 :

werd - | : fgamenst Fizean yprredt o1 smens 2 3

@l - |l : fgsmemst eI, gorIc Siis @ Aol &l 3ldr & RIarT saa o5 former bl Az &
JURITP DYoll B 3l H, ofll [Su s1u fadmeul 3 A W8 3= @1 T=I6l HifSte ©

[Question ID = 3640][Question Description = S2_qSNz_PG_GP4_Q15]

1. Both Statement | and Statement Il are true/@emwt | aiiz |l Sleil A 8 [Option ID = 14557]

2. Both Statement | and Statement Il are false/a@erwt | 8ii2 |l Gleil sRicr & [Option ID = 14558]

3. Statement | is true but Statement Il is false/@emwr | 31 8, fdpoq weret || sRicr 8 [Option ID = 14559]
4. Statement | is false but Statement |l is true/wesel | sRIcI 8 , fboq el |l 3=r & [Option ID = 14560]

Correct Answer :-
e Both Statement | and Statement Il are true/@erer | iz 1 Siail 31 & [Option ID = 14557]

11) More and more informal exchanges within a group to resolve conflicts is an example of

ToRIdl DI AHIET6I Dol D e v e D sfiar 31ferp A sifere seiluanf¥e 3ICTe-ygIel 36180T 3 -
[Question ID = 3641][Question Description = S2_qSNz_PG_GP4_Q16]

. Vertical communication/3eaferz 2iuur a1 [Option ID = 14561]

. Horizontal communication/giferst 2iquur @1 [Option ID = 14562]
. Risk communication/sif3asr 2iquur a1 [Option ID = 14563]

. Personal communication/dfepe 2iuur a1 [Option ID = 14564]

A wWw N -

Correct Answer :-
e Vertical communication/3eafer 2iuur @1 [Option ID = 14561]

12) Which of the following are identified as verbal communication skills?
A. Use of aggressive language

B. Assertiveness

C. Opening feedback channels

D. Taking credit for oneself

E. Use of affirmative words

Choose the correct answer from the options given below:



forgatferRaa 3 A fopadbl usdrel aiftrs AYWUT BI9rT & HU 3 DI Sl 3

A. M@MEIDB HIHT BT AT

B. smoyfgar

C. bIsd® @ oicdl DI Yraeist

D. =i &l 9 ot

E. FdioRIca® 91t &1 GRIBT

il fou s1e fraseul 9 2 & Ia= goi ¢

[Question ID = 3642][Question Description = S2_qSNz_PG_GP4_Q17]

. A, B and C only/dact A, B 3iiz C [Option ID = 14565]
. B, Cand D only/daea B, C siiz D [Option ID = 14566]
. C, D andE only/a3ae C, D siiz E [Option ID = 14567]
. B, Cand E only/aac B, C siiz E [Option ID = 14568]

A W N -

Correct Answer :-
e A, Band C only/dac A, B siiz C [Option ID = 14565]

13) Given below are two statements
Statement I: Body language is the basis of deceptive communication.
Statement II: Non-verbal cues have their own shared meanings.

In light of the above statements, choose the correct answer from the options given below

ofi <1 perer Ru sme 3 ¢

@erel - | | ADID UIdI, 3D HIUT DT MER BXcdl 3

el - |l : Sr-aifRies JAd>dl & sraet e sref Jxar &
SWRIFP Pl @ 3Mrelld i, ofld 3w s1e Ripedl 3 A A8l Iar @I M6t HifSte :
[Question ID = 3643][Question Description = S2_qSNz_PG_GP4_Q18]

Both Statement | and Statement Il are true/erer | 3z |1 Sloil 31 8 [Option ID = 14569]

Both Statement | and Statement Il are false/@emt | 3iiz |1 Gloil 3Rt & [Option ID = 14570]
Statement | is true but Statement Il is false/erme1 | A 8 , o @eret |l sRir & [Option ID = 14571]
Statement | is false but Statement |l is true/mepol | sRI=I € , fbog el |l A= & [Option ID = 14572]

A W N -

Correct Answer :-
e Both Statement | and Statement Il are true/epr | 3l |l Gleil 21 & [Option ID = 14569]

14) Identify the CORRECT sequence of categories of grapevine communication
A. Cluster chain

B. Probability chain

C. Gossip chain

D. Single strand chain

Choose the correct answer from the options given below

SlelydrG AT &t YR B A8l G b usare o3 ©

A. 333 e

B. Fisirera 9jac

C. sru9ru gjacn

D. wwa ¥is gzaent

oA Ry s1e Riecdl # A & a2 goi

[Question ID = 3644][Question Description = S2_qSNz_PG_GP4_Q19]

1. A, B, C, D [Option ID = 14573]
2. B, C, D, A [Option ID = 14574]
3. D, C, B, A [Option ID = 14575]
4. C, D, A, B [Option ID = 14576]

Correct Answer :-
e A, B, C, D [Option ID = 14573]



15) Match List | with List Il

List | List Il

Categories of communication Features

A. Lateral I. Touch communication

B. Haptics Il. Between equals

C. Semantics Ill. Interpretation of signs

D. Semiotics IV. Concerned with meanings|

Choose the correct answer from the options given below:

et -1 Bt 3l -1l A AR Hifre

Rxeht -1 il

(3ot 9)fdriT) (faroramd)

A. aiffdes |. Iiguor Faof

B. Fuof farsier Il. sl & dta Fguor
C. srelgza Ill. Fid>di &I e

D. Fiofers IV. sreif 2 ddfeEa

il fou s1e frpeul 3 ¥ A8 IR gforw ©
[Question ID = 3645][Question Description = S2_qSNz_PG_GP4_Q20]

A-11,B-1,C-1V, D - lll [Option ID = 14577]
A-1ll,B-11,C-1,D- IV [Option ID = 14578]
A-1V,B-1Il,C-1l, D - | [Option ID = 14579]
A-1,B-1V,C-1ll, D - Il [Option ID = 14580]

A W N -

Correct Answer :-
e A-Il,B-1,C-1V,D-Ill [Option ID = 14577]

16) What comes next in the following sequence?

8,6,4.5, 3.5, ___

8, 6, 4.5, 3.5 @ 3IrgIayd i 3HICH Dlol-AT 3D BPI ?

[Question ID = 3646][Question Description = S2_qSNz_PG_GP4_Q21]
1. 1/1 [Option ID = 14581]

2. 2/2 [Option ID = 14582]

3. 2.5/2.5 [Option ID = 14583]

4. 3/3 [Option ID = 14584]

Correct Answer :-

e 1/1 [Option ID = 14581]

17) X has one and a quarter times as many as Y, and Z has one and a quarter times as many as X. Altogether, they have 61.
How many do Z, Y and X have, respectively?

XD urt Y @I a1 31611 3 3R Z & uri X oI @I 3ell 3 A il & ur Alafera su A 613 Z, Y sk X @ urd a@gier: fpaol 3 ?
[Question ID = 3647][Question Description = S2_qSNz_PG_GP4_Q22]

25, 16, 20/25, 16, 20 [Option ID = 14585]
20, 16, 12/20, 16, 12 [Option ID = 14586]
25, 20, 16/25, 20, 16 [Option ID = 14587]
16, 20, 25/16, 20, 25 [Option ID = 14588]

A W N -

Correct Answer :-
e 25,16, 20/25, 16, 20 [Option ID = 14585]

18) Showing the man in a photo, Kavita said, "He is the brother of my uncle's daughter".

How is the man realted to Kavita?

TP BICI A v AP @l [$¥rd gu @iddr of @al, ds A arar &l 9¢l @I 11 3 3 Alep A oldar oI g fyear 3 ?

[Question ID = 3648][Question Description = S2_qSNz_PG_GP4_Q23]
Nephew/ sicfisir [Option ID = 14589]

Cousin/adRr1 a8 (pfeter) [Option ID = 14590]

Uncle/arar [Option ID = 14591]

Son/gq [Option ID = 14592]

AW N =

Correct Answer :-
e Nephew/sicftsr [Option ID = 14589]



19) Given below are two statements
Statement I: In one minute, the minute hand of a clock gains 5° over the hour hand.

Statement Il: If both the minute and hour hands start moving together from the same position, both the hands will coincide
after 64 minutes.

In light of the above statements, choose the correct answer from the options given below

ofi <1 perer Ru sme 3 :

@l - | : b Bieic # el Slar a1 &l frere &I 33, de Ht g A 5° el 96 Sl 3

el - | : afd fiere sl @t &t Jgzat v & Rrerfer 3 3mE) agont 9s wcdl 3 Al el Iyt 64 Bioic @G v, g A ficith
SWRITP Dol D 3MIelld , ofld 3w s1e Ripedl 3 A A8l Iar I a6t HifSte :

[Question ID = 3649][Question Description = S2_qSNz_PG_GP4_Q24]

1. Both Statement | and Statement Il are true/eret | 3iiz || Sloil 31 & [Option ID = 14593]

2. Both Statement | and Statement Il are false/a@emt | 3ii2 |l Gleil sRicr & [Option ID = 14594]

3. Statement | is true but Statement Il is false/@ermer | 3 @ , fboq et |l spRier & [Option ID = 14595]
4. Statement | is false but Statement |l is true/mepol | srRI=I € , fboq el || A= & [Option ID = 14596]

Correct Answer :-
e Both Statement | and Statement Il are true/epr | aiz |l Gleil 21 & [Option ID = 14593]

20) Consider the following statements:

A. A single discount equivalent to three successive discounts of 10%, 20% and 25% is 46%
B. A mobile is sold for 14500 at a loss of 20%. The cost price of the mobile is 18225.

C. If the loss is % of the selling price, the loss percentage is 28%

Choose the correct answer from the options given below:

frafeRad siftmy | faar &1

A. U@ gR H 1 718 46% DI ¢, dF aR H &1 715 10%, 20% 3R 25% Fel & s 8

B. U HIFTSd @l 20% @1 g1 W 14500 % H &4l [l &, Hislgd &l AFld Jod 18225 % &
D. e 81, g Tea &1 L8 e 28% ©

el o e faeeal & 9 wEl I T :

[Question ID = 3650][Question Description = S2_qSNz_PG_GP4_Q25]
1. Aand B only/dsaet A aiiz B [Option ID = 14597]

2. Band C only/daer B siiz C [Option ID = 14598]

3. Aand C only/@aet A siiz C [Option ID = 14599]

4. Aonly/dact A [Option ID = 14600]

Correct Answer :-
e A and B only/dact A siiz B [Option ID = 14597]

21) In the context of uses of language, which of the following is the fallacy that pertains to the relationship between a
person's beliefs and his circumstances?

forgatferiRaa 3 A Pdlol-AT AD S 3 Sl aftb @ faeardl siiz ufxiFeferl @ dia JAder oI =Ib ddar

[Question ID = 3651][Question Description = S2_qSNz_PG_GP4_Q26]
Argumentum and Baculum (force)/amefdics &s daqem (o1fep) [Option ID = 14601]

Argumentum ad Hominem (circumstantial)/smefdica vs aifdoa (uRRerfesio) [Option ID = 14602]
Argumentum ad Ignorantiam (ignorance)/simejdicar s ssaiifeRial (arstoiar) [Option ID = 14603]
Argumentum ad Verecundiam (authority)/smefdics esd¥gfSeret (Yfiipr) [Option ID = 14604]

A w N -

Correct Answer :-
e Argumentum and Baculum (force)/smjdicar 6s daetat (91fep) [Option ID = 14601]

22) If 'Some members are not voters' is false in a square of the opposition of proposition, which of the following code can



be correctly picked

A. 'All members are voters' is false
B. 'Some members are voters' is true
C. 'All members are voters' is true

D. 'No members are voters' is true

Choose the correct answer from the options given below:

a® araeil & fRRielt oot i Al "o e Aqacrar oifl 3 srica 3, i forFerfeRaa 3 2 fba1 @ o1 A8} Alen ST ADAr &
A. "9t G Aqern ' 3RTea &

B. "©® Wc Adcrdr & AcA 8

C. "l A6 FAcIa " Aca 3

D. "I A Hacrar oidl &' Aea &

ofia 3w a1 el 3 A A& a2 ol :

[Question ID = 3652][Question Description = S2_qSNz_PG_GP4_Q27]

. Aand D only/@aet A siiz D [Option ID = 14605]
. A and B only/dact A siiz B [Option ID = 14606]

. B and C only/dact B siiz C [Option ID = 14607]
. Cand D only/d@aet C siiz D [Option ID = 14608]

A w N =

Correct Answer :-
® Aand D only/aqet A siiz D [Option ID = 14605]

23) Which of the following codes correctly represents the figure and mood of the argument?
All businessmen are self-confident

No self-confident men are religious

Therefore, No religious men are businessmen

Choose the correct answer from the options given below

forraiferRaa wler-A1 e AdaraRT @ PR AR YBR B Jdl U A YIgd okl 3 :
it carardt sircar-farardt 8 3

sirea-frar Af3a o of cafes enffas ordl siar

sfere oFf oft enfifes cafep smurdt ol drar

[Question ID = 3653][Question Description = S2_qSNz_PG_GP4_Q28]
1. AEE - |

[Option ID = 14609]
2. AEE - I

[Option ID = 14610]
3. AEE - Il

[Option ID = 14611]
4. AEE - IV

[Option ID = 14612]
Correct Answer :-
o AEE - |

[Option ID = 14609]

24) The knowing self knows objects through the instrumentality of the sense organs (Indriyas) but the existence of Indriya
is proved by

St sfogal &1 el A ucrelf @ aR 3 SRl i ol & sfogal o sif¥dea genfora fown sitar & forsot 31 3 v Gt ¢
[Question ID = 3654][Question Description = S2_qSNz_PG_GP4_Q29]



Anumana Pramana/ sigj#tel ysmt g1 [Option ID = 14613]
Sabda pramana/erss ygmor grer [Option ID = 14614]
Arthapatti Pramana/sferfufer grr [Option ID = 14615]
Upamana Pramana/3usirer ggmor gt [Option ID = 14616]

A W N -

Correct Answer :-
® Anumana Pramana/sfojerer gamur g1 [Option ID = 14613]

25) Which form of knowledge is NOT derived through the instrumentality of other knowledge?

Siiel D P31 Fasu DI 316 il Dl ASRIAT A Yrd ol s Sirar 3

[Question ID = 3655][Question Description = S2_qSNz_PG_GP4_Q30]
1. Perception/ygigr [Option ID = 14617]

2. Inference/smmet [Option ID = 14618]

3. Word-testimony/grsg ggmr [Option ID = 14619]

4. Comparison/3usiret [Option ID = 14620]

Correct Answer :-
e Perception/yeiet [Option ID = 14617]

26) In respect of computer software, features of a typical operating system include:
A. The interface-allowing communication between the user and the computer

B. Memory management-allocating internal memory (RAM) to programs and data in use and retrieving and storing data on
the external memory devices

C. Resource handling-controlling peripheral devices (input and output devices) and handling user requests for peripheral
devices

D. Internet access-providing connectivity to the services on the Internet

Choose the correct answer from the options given below:

PRI ATTcA3R o der i v gifeitre smfter Rrea &t fidruarsit 3 frafiRaa enfirer A 3

A. R $caBd - GRITDI @ BRI D S AYWT i srggafer Sar 3

B. 3318t gderel - YRIeT 3 38 Qiojmel 3R siivst @ 1w sidf¥es Jeist (312 © war) ot 3irdco Siiz arat At 3arsAT WR 3iist &t Yol gt
q $iSRUT

C. Jarerol FHsIcTon - ufefRr 3arsAl (so1ye a 3n3eyc 3arsA) I forifeld wen a ufdir Sarsil @ fére gRITPT sgfR1ell ®I HHIcTol

D. scvole uga - $eolc U= AAi D RRI Aud ygrel wel

il fou o1 fyaseul 3 21 & Fa= goi ¢

[Question ID = 3656][Question Description = S2_qSNz_PG_GP4_Q31]

A, C and D only/dsaet A, C siiz D [Option ID = 14621]
B, C and D only/dact B, C siiz D [Option ID = 14622]
A, B and C only/d@act A, B siiz C [Option ID = 14623]
A, B and D only/@aet A, B aiiz D [Option ID = 14624]

A W N -

Correct Answer :-
e A, Cand D only/dact A, C siiz D [Option ID = 14621]

27) Match List | with List Il

List | List Il

(Description) (Appropriate Technical Term)

A. Authoring language used to create
documents to be viewed on the World |Il. Browser
Wide Web

B. Computer that responds to requests
to provide information and services Il. HTTP
over the Internet

C. Defines how messages are
transmitted and formatted over the I1l. HTML
Internet

D. Software that enables users to
access/view documents and other IV. Internet server
resources on the Internet




Choose the correct answer from the options given below:

et -1 B e -1l A g Hife

et | e -l
(fera=zoT) (Suged awmolildl us)
A. Siagdic Jollol @ ferg ciods ferell PR acs arss |
dd UT ST SIQ -
B.Rﬁtm@@'@ﬁm@'éﬁtﬁmﬁiﬁmam"- PP
(I IR ol dIcl BRICT
C. sceolc WR giifdic wd widie dol arct FRISIST ®I
Ill. war.él.uaruet.
D. &1 AfedRR Sl YRIBIPD! Bl $colc uR Sfarygic V. < ke

Bz g1 JAIerGil Dl YaRIA/S¥ ol D A Folidl 31

il fou a1e fypeul 3 A A IR gfom :

[Question ID = 3657][Question Description = S2_qSNz_PG_GP4_Q32]
1. A-1IL,B-1V,C-1,D-1l

[Option ID = 14625]
2. A-1,B-1IV,C-1l,D-1ll

[Option ID = 14626]
3. A-IV,B-1I,C-1,D-1l

[Option ID = 14627]
4. A-11,B-1V,C-1I,D-1

[Option ID = 14628]

Correct Answer :-
e A-1ll,B-IV,C-1,D-1l

[Option ID = 14625]

28) Arrange the following optical storage devices in decreasing order of their storage capacity
A. DVD

B. CD-ROM

C. Blu-Ray

Choose the correct answer from the options given below

FN¥ST BARKE @ Ted @ i Holifpda R Rasd @ waf¥ea difse:

A. dtdtd

B. f1.3L. - 3o

C.s13

il f3u a1 fraseul 9 2 W& 3a= goi ¢

[Question ID = 3658][Question Description = S2_qSNz_PG_GP4_Q33]

C, B, A [Option ID = 14629]
C, A, B [Option ID = 14630]
B, C, A [Option ID = 14631]
A, C, B [Option ID = 14632]

A w N =

Correct Answer :-
e C, B, A[Option ID = 14629]

29) Given below are two statements
Statement I: An operating system controls peripherals, and allocates memory and processor time.
Statement IlI: An operating system provides Internet access.

In light of the above statements, choose the correct answer from the options given below

oflar S1 averet feu s1e 3 ¢



@erel - | @ v sifaefest Rivear aftdzcar @l forafoqa @ear 3, 3iik AR 3fik YRR AR DI Mol BT &
@l - |l : v simfesr Rizcar $edic ValA Yglol @l &

SWRIFP Pcll D 3MIelld #, ofld 3w 31w el 3 A A8l Iar @I wrI6t HifSte :

[Question ID = 3659][Question Description = S2_qSNz_PG_GP4_Q34]

Both Statement | and Statement Il are true/aserwr | aiiz |l Sioit 3er & [Option ID = 14633]

Both Statement | and Statement Il are false/@sermr | 3iiz || Sraif sRicr & [Option ID = 14634]
Statement | is true but Statement Il is false/@emel | a1 @ , fpoq @eret |l sRIr & [Option ID = 14635]
Statement | is false but Statement Il is true/memwr | sRicI & , fboqg et || A= & [Option ID = 14636]

A W N =

Correct Answer :-
e Both Statement | and Statement Il are true/@emwr | 3iR 11 Glell 31 & [Option ID = 14633]

30) Which of the following is the appropriate GUI (Graphical User Interface) component used to select one from multiple
alternatives?
forgatifepa 31 A Dol WY YIS, (et Yok $ecxwA) aced & Sl ag famedl 3 A v @I golol A YT o= sirar

[Question ID = 3660][Question Description = S2_qSNz_PG_GP4_Q35]
Scroll bar/¥®fet @z [Option ID = 14637]

Push button/ger acat [Option ID = 14638]

Progress bar/q@)a1 arz [Option ID = 14639]

Radio button/3f:i scat [Option ID = 14640]

A W N -

Correct Answer :-
® Scroll bar/¥®fet @ [Option ID = 14637]

31) Which one among the following diseases is NOT caused due to exposure to ultra-violet radiation?

forgoiferRaa 3 3 Dlol-AT ABT URT Jorell fAfpUT Ysiiae! @5 BRI o1&l aXr & ?

[Question ID = 3661][Question Description = S2_qSNz_PG_GP4_Q36]
1. Bronchitis/earierctt oiter [Option ID = 14641]

2. Melanoma/demsiian [Option ID = 14642]

3. Ocular damage/aiq sifer [Option ID = 14643]

4. Erythema/ca@fepar [Option ID = 14644]

Correct Answer :-
e Bronchitis/carorcft ofter [Option ID = 14641]

32) Match List | with List Il

List | List Il

Class of water Example/Explanation

pollutants

A. Disease-causing I. Organic wastes decomposed by aerobic
agents bacteria

B. Oxygen depleting

Il. Acids, salts, compounds of toxic metals
wastes

C. Inorganic plant

R lll. Bacteria, protozoa, worms etc.
nutrients

D. Water-soluble IV. Water-soluble nitrates and phosphate cause
inorganic chemicals |excessive growth of algae etc

Choose the correct answer from the options given below:

et -1 Bt 3l -1l A AR Hife

et -1 et -l
STl YgHl BT oot 31801 / RN
A. ABCIGIP PRD |. argsiidt sfiamg cr1 feafea o srufdre

B.sﬂmmmmﬁ".m, R errqail @ AP

Brafdrse
;_;ﬁsﬁa% 1. Sfiaroy, yshtary (Qdisien) ik scf
D. stet 3 getorofter IV. Stet 3 gerorofier arsee 3R Bizwe ddrd scnfe

ST fored RARIST bt arfer g e 3



Iaﬂﬁi%t!miﬁaa—cﬁ ﬁﬁaﬁmgﬂ%{q:

[Question ID = 3662][Question Description = S2_qSNz_PG_GP4_Q37]
1. A-1,B-IV,C-1l,D-1

[Option ID = 14645]
2. A-IL,B-1I,C-1,D-1V

[Option ID = 14646]
3. A-UL,B-1,C-1V,D-Il

[Option ID = 14647]
4. A-IV,B-1I,C-1I,D-I

[Option ID = 14648]

Correct Answer :-
e A-I,B-IV,C-1l,D-1I

[Option ID = 14645]

33) Given below are two statements
Statement I: Nitrification results in an increase in effluent ammonia toxicity
Statement II: Denitrification reduces nitrate to nitrogen gas using bacteria

In light of the above statements, choose the most appropriate answer from the options given below

il S werel fdu sre 3 ¢

Dol - | : afd:3a &bt spiforn fuarpar # gfy ssdiaur o1 ufyvma 3

@l - || : fRensdiavr 3 Siary oI geI B2 olis¢e Pl olisglslol 311 3 JUaR[ @ &
SWRITP Pl @ 3MIelld 3, ofld 3w s1u Rl 3 A A8l IR I a6t HifSte :
[Question ID = 3663][Question Description = S2_qSNz_PG_GP4_Q38]

Both Statement | and Statement Il are correct/erer | 3iiz || Sloil 31t & [Option ID = 14649]

Both Statement | and Statement Il are incorrect/a@erwer | iz 1l Giali sieia & [Option ID = 14650]

Statement | is correct but Statement Il is incorrect/emr | 31t 8, fpoq et |l sieta & [Option ID = 14651]
Statement | is incorrect but Statement Il is correct/@emwt | sci @ , fpog et |l 2@t & [Option ID = 14652]

A wWw N =

Correct Answer :-
e Both Statement | and Statement Il are correct/emr | 3iiz | cleif 2t & [Option ID = 14649]

34) Flotation is a unit operation, used in wastewater treatment to
A. Remove the lighter suspended solids

B. Concentrate biological sludge

C. Remove oil and grease

D. Remove the temporary hardness of the water

Choose the correct answer from the options given below:

weTdol U TS g 3 fSrImT 3uriieT 3ruafdrse Sier A aRIr 9Ly @3l 3 v sirar 3:
A. sftfa forcifda o1R1 ucrell @I scrol 3

B. 31ig Sifadbkr o1 Blas @ fore

C. e itz ot (3fis1) @t et A

D. St @ srzeril wolear I serol 3

oA R s1e Riescdl # A & a2 o ¢

[Question ID = 3664][Question Description = S2_qSNz_PG_GP4_Q39]

1. A, B and C only/dact A, B siiz C [Option ID = 14653]
2. B, Cand D only/@aa B, C siiz D [Option ID = 14654]
3. A, Band D only/a@aet A, B siiz D [Option ID = 14655]
4. A, B, Cand D/A, B, C alix D [Option ID = 14656]

Correct Answer :-
e A, Band Conly/aac A, B iz C [Option ID = 14653]

35) Match List | with List Il




List | List Il
Ozone depleting substanceName

A. C3HF7 I. HCFC
B. C2FH;3Cl, Il. Halons
C. CoF4Cly Ill. HFC
D. CF3Br IV. CFC

Choose the correct answer from the options given below:

et -l oot 3 -1l A Fgafera Hifste :

ret -1 et -l
sirsilel gifsa ucref Sie

A. C3HF7 I. HCFC
B. C2FH;3Cl2 Il. 3clica
C. CoF4Cly lll. HFC
D. CF3Br IV. CFC

i) feu oru famedl 3 A A8 3R gforu :
[Question ID = 3665][Question Description = S2_qSNz_PG_GP4_Q40]

1. A-1,B -1, C-1I, D - IV [Option ID = 14657]
2. A-1l,B-1,C-1V, D - Il [Option ID = 14658]
3. A-1I,B-1V, C-1ll, D - | [Option ID = 14659]
4. A-1V,B-1l,C-1,D - Il [Option ID = 14660]

Correct Answer :-
e A-I,B-Ill,C-Il,D-IV[Option ID = 14657]

36) The country which has the highest number of higher education institutions is:

g oI SIel Uz Soa 118 Jzereil & wafféres e 3 :

[Question ID = 3666][Question Description = S2_qSNz_PG_GP4_Q41]
1. India/sme [Option ID = 14661]

2. China/dfer [Option ID = 14662]

3. USA/guae [Option ID = 14663]

4. Russia/za [Option ID = 14664]

Correct Answer :-
e |India/ema [Option ID = 14661]

37) Arrange the following in chronological order of their occurrence
A. Hartog Commission

B. Sadler Commission

C. Macaulay's Minutes

D. Sargent plan

E. Wood's Despatch

Choose the correct answer from the options given below

forgsifeiRaa Y So1d> 3106l A BITHATGRIR afded Hifsre

A. BIcter sirRIeT

B. JscR meI

C. Frar wrlge (Rrorcar)

D. wirste Alston (Cetror)

E. gs B¥a

ofid fou a1 el 3 2 A8t ST gt ¢

[Question ID = 3667][Question Description = S2_qSNz_PG_GP4_Q42]

B, D [Option ID = 14665]
A, D [Option ID = 14666]
, D, A [Option ID = 14667]
A, D [Option ID = 14668]

A W N -

Correct Answer :-
e C,E, A B, D[Option ID = 14665]



38) Which of the following are NOT statutory bodies?
A. NAAC

B. NMC

C. NCERT

D. AICTE

E. NCTE

Choose the correct answer from the options given below:

forrarferRaa & A1 @l A Aifafere forpr 3 :

A. NAAC

B. NMC

C. NCERT

D. AICTE

E. NCTE

il fou s1e fraseul 9 2 & 3a= goi ¢

[Question ID = 3668][Question Description = S2_qSNz_PG_GP4_Q43]

A and B only/d>qet A siiz B [Option ID = 14669]
C and D only/@aet C iz D [Option ID = 14670]
A and C only/a@act A siiz C [Option ID = 14671]
D and E only/@aet D iz E [Option ID = 14672]

A W N -

Correct Answer :-
e A and B only/daaet A siiz B [Option ID = 14669]

39) UGC is established for:

A. Promoting research and innovations in higher education in the country

B. Coordination, determination and maintenance of standards of university education

C. Increasing access to higher education in the country

D. Disbursing grants to the universities and colleges

E. Serving as a vital link between the Union and State governments and institutions of higher learning

Choose the correct answer from the options given below:

3 St 2ft I Ferruen o Zoa & e g5 3 ?

A. Zor 3 Ica fren 3 sigpRienel 3R stayarieil @ a@rar Sl

B. fareafdemcril f318ir @ eIl ®I WoarIal, forerfzur siiz Sxasimar

C. Tor 3 Ica fren as uga ! dGTel

D. frafdencril siiz Bicisil @ Mocloll BT [T woll

E. 3@ qen Isa IRERI SR Iaa fOren siffener el & dia dstayul ot & %y 3 Aar Ygrel a6l
ofid fou a1 fwseal & A A8 IR BT wRI6T HIfdIT :

[Question ID = 3669][Question Description = S2_qSNz_PG_GP4_Q44]

A, C and E only/d@act A, C 3iiz E [Option ID = 14673]
A, B and C only/@ac A, B siiz C [Option ID = 14674]
A, B, C and D only/daet A, B, C 3iiz D [Option ID = 14675]
B, D and E only/d>aet B, D siiz E [Option ID = 14676]

A w N =

Correct Answer :-
e A, CandE only/aact A, C siiz E [Option ID = 14673]

40) Match List | with List I

List | List Il

A. AICTE |l. Promotes research in Philosophy

B. ICHR [Il. Promotes research in History

C. ICPR [lll. Promotion of quality in Technical Education
D. ICSSR |[IV. Promotes research in Social Sciences
Choose the correct answer from the options given below:




et -l oot 3 -1l A Fgafera Hifsie :

xet -1 ot -l

A. AICTE |. coforom & 3roIRieiel Bl dGTol

B. ICHR 1. sfererRa 3 siofRienet I aGlol

C. ICPR I, aapotichl {3181 <l SJUTaTr DI SGIaT Soll
D. ICSSR IV. srnfSie forsimell 3 siofRiens o aGiell

il f3u s1e frseul 3 ¥ A IR o ©
[Question ID = 3670][Question Description = S2_qSNz_PG_GP4_Q45]

A-11,B-1l,C-1,D -1V [Option ID = 14677]
A-11,B-1l,C-1V, D -1[Option ID = 14678]
A-11,B-1ll,C-1,D- IV [Option ID = 14679]
A-1V,B-1l,C-Illl, D-1[Option ID = 14680]

A W N -

Correct Answer :-
e A-Ill,B-1l,C-1,D-IV[Option ID = 14677]

Topic:- GP_20NOV_C_SH2

1) Read the given passage and answer the questions that follow

Social exclusion is a multi-dimensional concept conceived to capture different aspects of social disadvantage-economic,
social, political and cultural-that exist in multiple variations across nations. Stripped to its essence, the term focuses on the
groups excluded in economic, social and cultural terms as well as on the mechanisms that work to relegate them to the
status of social outsiders. Originating mainly in the writings of French sociologists, the concept is receiving growing scholarly
attention in Western Europe. The emergence of the term, in fact, reflects an attempt to reconceptualise the changing
nature of social disadvantage in post-industrial societies in the face of major technological change and economic
restructuring. The West, for example, has been experiencing an intensifying process of social integration that is occurring
because of long-term unemployment, increasing migration and the rolling back of the welfare state. Consequently, new
vulnerable social groups have been emerging and are labelled in different ways: ‘the new industrial poor’, ‘immigrants’,
‘ethnic groups’, 'single parents’, among others. Interest in social exclusion has grown in relation to the growth of new social
problems in the west. Two important issues are worth considering here. First, does the concept add anything new which
cannot be provided by analysis within a more conventional framework of, say, poverty, inequality, deprivation and so on.
Second and more important, can this concept be extended beyond a European perspective to a development setting? Can it
be exported from the North to the South, from a situation where the majority are well-off to a situation where the majority
are poor? Clearly, a great deal of attention has been paid, in development analysis, to related issues such as poverty,
inequality, deprivation, entitlements and capabilities.

3 s1Q srerior @) ue 3R ofid feu s1w yesll B 3az S ¢

ARTSIP afdpR ud a3 - AR s@emrn 3 Sit Jregul Sor J fafeer wwul 3 siRdaraare snfffe, ARnkee, IEEfae ik Aroiie - Ao
ofirl & fafdeer uscrsil @1 Adate B! G RV T $AD Aca D 1T W gU; AT 9165, Iol AH! Sif fefap, ATMIPE iz AFDmitie wu A
afdvapa A3El ur &A1 DRA D 3 3l AT & A e AP WU A @Bl cllsll Bl Jorchl Rrerfer A ars? forpIcal @I BRI B! ard dg iR
&A161 DIGA D31 3 BiA D AAST MRRIT D cidl 3 JIRT WU 3.gd A6 ARV Uil RIU 3 96 gu WU I RISl I &alol gra @2 @ 3 51
9re¢ bl Ieufe, araa i Pz awolidl acard 3R snffe gerizasi @ e 3R - NP JATS 3 AHIRID Dl D Joeld FasU DI
Qol3aeIRuII Jollel B U YARI DI Yoidfa ddl 3 3creur o fere ufker aenfie fravser & v gefisya aidl yfigam o1 sepa @2 61 8 Sil
gAfe1 3Y a1 3 Tilfs dal cid FIRT Bt RASEIS, TGl FYARTT i BBl AT A i sear & sifcifaferi urfl s & 2 Garaeu oY
el AHIRID FIPBI BT 3G 3l Wl 3 R A RI D i 3 fafdioot U 3 el S 3 "ot SienRie s, ‘syarfl’, ‘seirdl 39s’, "vba
siftrira’ affaa A oR AP AI=sH & gy D Ade I Ao afdcor 3 wRI a6 Rl 3 AT <1 Asvayel #E Feuadre kR & F gaa
TRIT AEMRYN 3 ok 9Nfdret dlar 3 Sl feadwur grRI séidl, 3RITeIdl, due scfe @ SIA 3iferd USURPId BHA® D dad oldl Yglol b= s
ADAl GIRI 3R 3ferp HAsTayvl, fb o= 31 sraerRun @I PRIl uf¥ggRn A Rt caaren (Afcer) @ sifefym fraiiya fepan sit aden ? o= a8
IR DI TR A i1 B e s A, T Wl Rafel PR agizad el &6il 31 A v Wil Refer R agizae el sR’id 8l ? Jute 34
3 IR, 3RIATGIAL, ddol sDcl 3R HTATSl arcl a2 Fei R fdRT krauvr 3 *ue »4 A &ame $ar sk 8

The concept of social exclusion is multidimensional because of:

ATHAISID SfECDR Dl FTEMRUI b BRUI A Jg3rRIeEd 3 :

[Question ID = 3671][Question Description = S2_qSNz_PG_GP4_Q46]

multiple groups to focus on/fafeer el v dfga [Option ID = 14681]

variations in deprivations/ddon @ ¥a%u 3 fdeerar [Option ID = 14682]

the prevalent notion about social outsiders/menfSics =u 3 @g3t clsll @ ar 3 yafera sraemzon [Option ID = 14683]
social statuses across nations/2igui Ser 3 Jmnfsre Refer [Option ID = 14684]

A W N -

Correct Answer :-
e multiple groups to focus on/fafeer wel w dfga [Option ID = 14681]



2) Read the given passage and answer the questions that follow

Social exclusion is a multi-dimensional concept conceived to capture different aspects of social disadvantage-economic,
social, political and cultural-that exist in multiple variations across nations. Stripped to its essence, the term focuses on the
groups excluded in economic, social and cultural terms as well as on the mechanisms that work to relegate them to the
status of social outsiders. Originating mainly in the writings of French sociologists, the concept is receiving growing scholarly
attention in Western Europe. The emergence of the term, in fact, reflects an attempt to reconceptualise the changing
nature of social disadvantage in post-industrial societies in the face of major technological change and economic
restructuring. The West, for example, has been experiencing an intensifying process of social integration that is occurring
because of long-term unemployment, increasing migration and the rolling back of the welfare state. Consequently, new
vulnerable social groups have been emerging and are labelled in different ways: ‘the new industrial poor’, ‘immigrants’,
‘ethnic groups’, 'single parents’, among others. Interest in social exclusion has grown in relation to the growth of new social
problems in the west. Two important issues are worth considering here. First, does the concept add anything new which
cannot be provided by analysis within a more conventional framework of, say, poverty, inequality, deprivation and so on.
Second and more important, can this concept be extended beyond a European perspective to a development setting? Can it
be exported from the North to the South, from a situation where the majority are well-off to a situation where the majority
are poor? Clearly, a great deal of attention has been paid, in development analysis, to related issues such as poverty,
inequality, deprivation, entitlements and capabilities.

33 s1Q srerior @) ue 3 ofid f3u s1w yesll B 3az S ¢

ARSI afdepR ud a3 - ARIEH s@emrn 3 Sit Jregut Sor d fafeer wwul 3 siRdaraare snffe, ARnkee, IEfTe i Aroiae - Ao
PRI @ fafiiosr usgsil ®I e Dot Bl RV 3 3D Acd D fore el gu; A6 oI, Iol APl sl 3nfdfep, ARG iR ARGiae wua 3a
afdvapda AEl ur &A1l DIRA D 3 3l AT & Az 966 ARMISID WU A 1Bl cllvll Dl Jorchl RFrerfer A ars? orpIcrol @I BRI B0l ard ¢ iR
€161 DIGA D31 3 BiA D AAST NRRIT D cidl 3 JRT WU 3gd A6 aLrRVI il RIU 3 96 gu WU 3 RIgTsll I &ilol gra @2 3 3 53
9rec bl 3eufe, araa 3 Pz ddolidl gcard 3 snffe Yerizaei @ e 3R - ENBID JATS 3 AHIRID Dl D Joeld Fa3U DI
ol3IaeIRUII Jollol B TP YARI DI Yoidfd drdl & 3cr1eu1 o fere ufkpr Ao firavser & v geflsyd aidl Y o1 3epa 2 61 & Sil
safere A 261 8 aRiifes asi cid JarRT Bl AASEIEL, TGl AYARIT 3R BeANIGHEI IS A WS seal & sifafaffril uril s 38 3 wasaeu oY
Her ARG FIS BT IGd 3l 61 3 312 A gl D dia 3 fAfdioot u 3 ool sa 3; ‘ofa eNfD slia’, ‘sigaril’, ‘seindl J3E’, ‘T
siftrra’ affaa A oRt AN Ja=sl & gy D Ade I AP afdsor 3 wRI a6 Rl 3 AT 31 Hevayul g Feadre kR & F gaa
TRIT AEMRVN 3 ok 9Nfdret dXar 3 Sl freaduur grRI séidl, 3RTHIeIdl, due scfe @ S 3if2rd USURPId BHA® D dad oldl Yglol = s
ADAl GIRI 3R 31ferp HAsvayvl, fo o= 1 sraerRun @I PIdlk uf¥ggRn A famr caaven (Afcer) @ sifefym faraiiya foan st aden ? o= a8
IR DI T A 31 B aw s A, v Wl Refel PR agizad el &il 31 A v Wil Refer R agizae el sR’id 8l ? Jute 34
3 ofidll, 3RIHATGIAl, ddel Gl 3R grararsil arcl JHdfera el uR faerI frauur # samud wu A eart G sk &

The new reflection on social exclusion has emerged from

ARNRIE afdtpR UR oid - Ridel waf A 3cuod g3 3 ?

[Question ID = 3672][Question Description = S2_qSNz_PG_GP4_Q47]

The industrialisation process in Europe/zRu 3 sitesfias2ur yfdgenr [Option ID = 14685]

The arrival of new scholarship in sociology/3ston ¥ ol uif$eI (IpIcRim) @1 3mepiel [Option ID = 14686]
The technological impact on societies/mrsil w2 awefid gema [Option ID = 14687]

The changes in the nature of social inclusion/mfSip e @ Faeu # decra [Option ID = 14688]

A W N -

Correct Answer :-
e The industrialisation process in Europe/zRlu 3 sieisfiasur gfepzn [Option ID = 14685]

3) Read the given passage and answer the questions that follow

Social exclusion is a multi-dimensional concept conceived to capture different aspects of social disadvantage-economic,
social, political and cultural-that exist in multiple variations across nations. Stripped to its essence, the term focuses on the
groups excluded in economic, social and cultural terms as well as on the mechanisms that work to relegate them to the
status of social outsiders. Originating mainly in the writings of French sociologists, the concept is receiving growing scholarly
attention in Western Europe. The emergence of the term, in fact, reflects an attempt to reconceptualise the changing
nature of social disadvantage in post-industrial societies in the face of major technological change and economic
restructuring. The West, for example, has been experiencing an intensifying process of social integration that is occurring
because of long-term unemployment, increasing migration and the rolling back of the welfare state. Consequently, new
vulnerable social groups have been emerging and are labelled in different ways: ‘the new industrial poor’, 'immigrants’,
‘ethnic groups’, 'single parents’, among others. Interest in social exclusion has grown in relation to the growth of new social
problems in the west. Two important issues are worth considering here. First, does the concept add anything new which
cannot be provided by analysis within a more conventional framework of, say, poverty, inequality, deprivation and so on.
Second and more important, can this concept be extended beyond a European perspective to a development setting? Can it
be exported from the North to the South, from a situation where the majority are well-off to a situation where the majority
are poor? Clearly, a great deal of attention has been paid, in development analysis, to related issues such as poverty,
inequality, deprivation, entitlements and capabilities.



3 310 srenior o ug 3z ofid 3w s18 Yol & 3az ¢ :

AP afdpR vd o3 - ARIEH s@emrn 3 Sit Jregul Sor d fafeer wul 3 siRdaraare snfffe, ARNRIG, IEEfae ik ARrolhe - Ao
ofiril & fafdeer uscrsil @1 A3IHate B! B RV T $AD Aca D 1T W gU; AT 916G, Iol AH! Sit fefep, AP 3R ATpiiies wu A
afdvapda APEl ur &A1l DIRA D 3 3l AT & Az 96 ATMISID WU A 13t cllvll Dl Jorchl RFrerfer A ars? orpIcral @I BRI B0l dard ¢ iR
€161 DIGA D3I 3 BiA D AAST AMRRIT D cidl 3 JIRT WU 3.gd A6 ARV Uil RIU 3 966 gu WU 3 RISl I &alol gra @2 & 3 53
9166 I Ieufel, ar<d I JIRT dAdoiidl docid 3R 3> Yorizel @ el IR - IMENRID AATST d ATMRID DIl D Seekd FasU DI
Yol3IaeIRuIl dollol @ U YATRA Dl Yghdia oxdl T 3creur o fere uftier amenfore foravse 61 ves aetiye sl gfdgan o siopa @2 261 3 it
safere A 261 3 aRIifes asi cid JIRT B AASEIE, TGl AYARIT 3R BcANIGHE] AT A WS seal & sifafaftril urll s 38 3 waraeu oY
eI ARNRIB YS! BT 35d 3l W 3 3R I Rl @ dfa 3 fafdost u 3 siet Sid 3; ot siienfere si¥la’, ‘srgarRil’, ‘gfeirdlr A3s’, 'vwa
siffrra’ affaa A oRil Ao AaF=sH & gy D Ade A Ao afdsor 3 wRI a6 Rl 3 AT 31 Hevayul e Feadre R & F gaa
TRIT AEMRYN 3 ok 9Nfdret dar 3 Sl freaduur gRI sidl, 3RTIeIdl, dae scfe @ S 3if2rd USURPId BHA® D dad oldl Ygiol = s
ADAl GIRI 3R 31f¥rp HAsTayvl, fo o= 1 sraemzun @I FRIdlkr uf¥ggRn A faorT caaren (Afcer) @ sifefym faraiiya fooan st aden ? o= a8
IR DI AW A 31 DI dw S A, T WAl Refel PR 9giad el &6il 31 A v Wil Rreafer RR1 ag3iIe oiel oRid 8l ? Iute 34
3 oidll, 3RIHATGIAl, ddel Gl 3R grararsil arcl Hdfera el uR faerI frayur # carud wu A eurer G sk &

The post-industrial society and economic restructuring have contributed for
IR - 3iiEnre A iR 3nfies Yorien o fipard fore Apreret & 3 ?

[Question ID = 3673][Question Description = S2_qSNz_PG_GP4_Q48]

The reconsideration of employment issue/3JIsPIR 38 w yoifdar [Option ID = 14689]

Strategies aimed at social integration/3mimfSie wdbiaur & aférd wishferif [Option ID = 14690]
Fragmentation of welfare state/@camwert 3= @I ffaema [Option ID = 14691]

Social disintegration into new deprived groups/sra dferd 9gl 3 AEnfe fdravser [Option ID = 14692]

A W N -

Correct Answer :-
® The reconsideration of employment issue/3IspIR #g w yoifdar [Option ID = 14689]

4) Read the given passage and answer the questions that follow

Social exclusion is a multi-dimensional concept conceived to capture different aspects of social disadvantage-economic,
social, political and cultural-that exist in multiple variations across nations. Stripped to its essence, the term focuses on the
groups excluded in economic, social and cultural terms as well as on the mechanisms that work to relegate them to the
status of social outsiders. Originating mainly in the writings of French sociologists, the concept is receiving growing scholarly
attention in Western Europe. The emergence of the term, in fact, reflects an attempt to reconceptualise the changing
nature of social disadvantage in post-industrial societies in the face of major technological change and economic
restructuring. The West, for example, has been experiencing an intensifying process of social integration that is occurring
because of long-term unemployment, increasing migration and the rolling back of the welfare state. Consequently, new
vulnerable social groups have been emerging and are labelled in different ways: ‘the new industrial poor’, ‘immigrants’,
‘ethnic groups’, 'single parents’, among others. Interest in social exclusion has grown in relation to the growth of new social
problems in the west. Two important issues are worth considering here. First, does the concept add anything new which
cannot be provided by analysis within a more conventional framework of, say, poverty, inequality, deprivation and so on.
Second and more important, can this concept be extended beyond a European perspective to a development setting? Can it
be exported from the North to the South, from a situation where the majority are well-off to a situation where the majority
are poor? Clearly, a great deal of attention has been paid, in development analysis, to related issues such as poverty,
inequality, deprivation, entitlements and capabilities.

33 31U srEni9r @I U iR ofid f$u 3w Yol & 3= ¢ ¢

ATHISID SfECPR U &g - IR 3aemRun 8 Sii AFgui Sor 3 fafaer wul 3 siaradret e, APIRIE, ASEiiae iR ARG - AP
D3RIl @ faffioot uscysil dI AdIfase DIl DI TRV & $AD Acd D fe1e el §U; A 9056, Iol APl il Mffp, AHIRIPG 3R ARFDITD WU A
afdcma APl UR eArel DiGA DI 3 3R AT & Az 9166 AAIRID WU A d183t Izl B Jorchl F-erfer A ars2 formictol @1 BRI B2l ard ddq U
€110 DiGA DA 3 BiA D TSl IR D Rl H PRI U Igd A8 JALIRUN Ul R i a6d gu U d RIsrell @1 &aret Y &2 3 & 39
9rec bl Ieufer, araa I Pz dwolidl gcard 3R snffc gerizaei @ e 3R - NP A d AHIRID Dl D Joeld FasU DI
Yol3[AENRUII Sollol @ U YRR Dl Yaidia oxdl 3 3crsur @ fere ulkme Amenfore ffravse & wos welise sicll gfigam o 3o @2 6T 3 St
sAfeIe 31 26T & aRIIfs asi cid FIRT Bl ASPIEL, TGAT AYARIGT 3T BCANIPEI I A WS seol &I sifcfaf?ril urfl s 28 & warasu o=t
el ATHIRID BT BT 3G 3l W 3 R A 2RI D i 3 fafdioot U 3 el S 3 "ot Siienfre s, ‘sigarfl’, ‘sfeirdl J9E’, "voa
siftrra’ affaw A oR AP A= o gy D Ade I AP afdsor 3 BRI a6 Rl 3 A6t 31 AeTayul g Feuare kR & F geaa
TRIT ARV 3 oRIT 9Nf3ret il 3 Sl fedwuT GRI siéidl, 3RIIeIdl, ddel SIfS @ SIA eI URURPIA BAAMD I dad ofdl Yglol fabam i
ADAl GIRI 3R 3ferp AsTayvl, b o= 321 sr@erRvn @I PRIk uf¥ggRn A f[ert caaven (Afder) @ sty fraiiya fepan st aden ? o= a8
IR Bl A A <31 Gt G- S ADden, v Wl Rafer Rrml agizre et acft 3 3 v ¥l Rafer Rril agizsae et si¥lq &l ? Fuse U
3 SRNdl, 3RIATGIAL, ddol serl 3R rIATl ardl Hdf2ia Fei uR fprRT firauvr 3 *mue »u A &« $ar sk 3

The scholarship on social exclusion has gone beyond
ARRID df3cPR UifseI (FPIcROMT) $3AD U2 ST Ibl 3 &

[Question ID = 3674][Question Description = S2_qSNz_PG_GP4_Q49]



The reach of governments/3r®RI &t uga [Option ID = 14693]

The conventional thinking/uusera 2ira [Option ID = 14694]

The normal issues of deprivation/ddon @ et #g [Option ID = 14695]
Common perspectives of inclusion/w@mdsret & mwie ufsggn [Option ID = 14696]

A WN -

Correct Answer :-
® The reach of governments/ar®RI &t uga [Option ID = 14693]

5) Read the given passage and answer the questions that follow

Social exclusion is a multi-dimensional concept conceived to capture different aspects of social disadvantage-economic,
social, political and cultural-that exist in multiple variations across nations. Stripped to its essence, the term focuses on the
groups excluded in economic, social and cultural terms as well as on the mechanisms that work to relegate them to the
status of social outsiders. Originating mainly in the writings of French sociologists, the concept is receiving growing scholarly
attention in Western Europe. The emergence of the term, in fact, reflects an attempt to reconceptualise the changing
nature of social disadvantage in post-industrial societies in the face of major technological change and economic
restructuring. The West, for example, has been experiencing an intensifying process of social integration that is occurring
because of long-term unemployment, increasing migration and the rolling back of the welfare state. Consequently, new
vulnerable social groups have been emerging and are labelled in different ways: ‘the new industrial poor’, ‘immigrants’,
‘ethnic groups’, 'single parents’, among others. Interest in social exclusion has grown in relation to the growth of new social
problems in the west. Two important issues are worth considering here. First, does the concept add anything new which
cannot be provided by analysis within a more conventional framework of, say, poverty, inequality, deprivation and so on.
Second and more important, can this concept be extended beyond a European perspective to a development setting? Can it
be exported from the North to the South, from a situation where the majority are well-off to a situation where the majority
are poor? Clearly, a great deal of attention has been paid, in development analysis, to related issues such as poverty,
inequality, deprivation, entitlements and capabilities.

& 31C srenior o UG 3z ofid 3w s18 Yol & 3az ¢ :

ARTSIP afdpR vd a3 - ARIEH s@emrn 3 Sit Jregul Sor d fafeer wul 3 siRdaraaret snfffe, ARNRG, IEEifae ik ARrolie - Ao
ofdril & fafdreer uscysil ol AHase Dol Bl RV F $AD Aca D 1w Wl gu; As 9reg, Iol APl Sl nfefa, A iz FiTpios wu A
afdvapda APl ur &A1l DIRA D 3 3l AT & Az 96 AP WU A B3l cllvll Bl Jorchl RFrerfer A ars? forpIcrol @I BRI B0l ard ¢ iR
€161 DIGA D31 3 BiA D AT MRRIT D cidl 3 JIRT WU 3.gd A6 ARV Uil R 3 96 gu WU 3 RISl @1 &ialol gra @2 3 3 53
9166 I Ieufel, ar<d I JIRT dAdoiihl docid 3R 3> Yorizel @ el IR - MENBRD AATST d AMRID DIl D Seekd FaBU DI
Yol3IaeRuIl dollel @ U JRIRI ®l Yofdfa wll 3 3creeur @ fere ulkpen wmenfore favsa &t v woflyya aXedl gfiprn o1 siopsia @2 a1 3 Sit
safere A1 261 3 aRiifes asi cid JrRT Bl AASEIEL, TGl AYARIT iR BcANIBGHEI IS A WS seol &I sifafaffril urll s 38 3 wasaeu okt
eI ARNRIB APS! BT 35d Al W 3 3R I Rl @ o 3 faffiost u 3 siet s 3; 'ora siienfere sifla’, ‘srgarRil’, ‘gfeidl A3s’, "vwa
siffrra’ affaa A oRil Ao AaFsH & gy D Ade I Ao afdsor 3 WRI a6 Rl 3 AT 31 Aevayul g Feadre R & F gaa
TRIT AEMRVN 3 ok 9Nfdret dXar 3 Sl freaduur gRI séidl, 3RTHIeIdl, dae scafe @ SIA 3if2rd USURPId BHA® D dad oldl Yglol s s
ADAl GIRI 3R 31ferp AsTayvl, fo o= 1 sraerzun @I FIdir uf¥ggRn A Rt caaren (Afcer) @ siferfym faraiiya foan st aden ? a=r a8
IR DI AW A ST DI dE S A, T WAl Refel PRI 953 el &6il 31 A v Wil Rrerfer PRI ag3iIe oiel oRid 8l ? Iute 34
3 ofidll, 3RIHATGIAl, ddel abGRY 3R grararsil arcl JHdfera el uR faerI frayur # camud wu A eart G sk &

The concept of social exclusion is now
ARG ai3sbrR & ST SIaenon 3

[Question ID = 3675][Question Description = S2_qSNz_PG_GP4_Q50]

1. The focus theme of Europeans/zRIdRI cisll W D farr (fter) [Option ID = 14697]

2. An issue of developmental capability/fd@ricaes 2meret o1 gz [Option ID = 14698]

3. A commodity for export from the North to the South/3m= 3 gfér &t @w foria @ e azq [Option ID = 14699]

4. Universal in character, going beyond the western hemisphere/df®a®m ¥awu arefl, uf2pil sitemt 3 a8 Siedt g [Option ID = 14700]

Correct Answer :-
e The focus theme of Europeans/?RIdlI cilell w2 ®fga fawrr (eftsr) [Option ID = 14697]

Topic:- HumanRD_A

1) Which of the following types of rights has/have been described as the first generation of Human Rights?

Soldl 3 Diol A DR AGIAIIPR & YA dig B IfepR & wu 4 afvia 3 -
[Question ID = 5166][Question Description = S2_qSNz_PG_HRD_QO01]

1. Economic, Social and Cultural Rights/snféfes, mmfors vd JAivdfere siftere [Option ID = 20661]
2. Religious Rights/enfdf® siférre [Option ID = 20662]

3. Civil and Political Rights/zmufis va Iemifers siftepre [Option ID = 20663]

4. Solidarity Rights/wdet siférsrz [Option ID = 20664]

Correct Answer :-



® Economic, Social and Cultural Rights/suféf@, enfSie vd ARgf® siftmr [Option ID = 20661]
2) Who can be appointed as Chairman of the NHRC as per the 2019 amendment to the Protection of Human Rights Act,
19937

JATeIaIf2rpR I2givT Stferforma, 1993 3 gu 2019 o Ji9Nersl @ 3IMER UR fb1 Ual ud 3R 2l @I 3reagl fored b st Aparn 3 -
[Question ID = 5167][Question Description = S2_qSNz_PG_HRD_QO02]

1. Aretired Chief Justice of Supreme Court/3rdfca surIeR @1 31 sarmeftor [Option ID = 20665]

2. Aretired Chief Justice of High Court/3ca curircrr @t sradmier gra semenefter [Option ID = 20666]

3. Aretired Chief Justice of India or a retired Judge of Supreme Court/31ddIer yrd $1Re T FIRT RIRIE 9T AT AdTcd GRIRICRI DI ADIN Yid oxrneftor [Option ID =
20667]

4. Aretired Judge of Supreme Court/Jdlca sIRICRI @ 3ol Yid oerieftor [Option ID = 20668]

Correct Answer :-
e Aretired Chief Justice of Supreme Court/2dica sIRICRI T 3R sIrmedtor [Option ID = 20665]

3) Which one of the following is enforceable in a Court of Law?

$oTd1 A TAT SRARIICRI GRI Ydcioil & ?

[Question ID = 5168][Question Description = S2_qSNz_PG_HRD_QO03]
1. Preamble/32fsrept [Option ID = 20669]

2. Fundamental Rights/diifer® siféir [Option ID = 20670]

3. Directive Principles/sfifer forgere ara [Option ID = 20671]

4. Fundamental Duties/diifér @der [Option ID = 20672]

Correct Answer :-
® Preamble/33frar [Option ID = 20669]

4) What is the tenure of Chairman and Members of the NHRC?

Uol.Ua.3IR. AL @ 31e8r 3R 316 AN DI PRIdbIc fbden 3 ?

[Question ID = 5169][Question Description = S2_qSNz_PG_HRD_Q04]
1. 3 years or upto 70 years of age/far atf =i 70 auf am [Option ID = 20673]
2. 5 years or upto 60 years of age/ufa adf =n 60 auf aaw [Option ID = 20674]
3. 6 years or upto 65 years of age/s ad = 65 quf a® [Option ID = 20675]
4. 5 years or upto 70 years of age/uia ad =rr 70 auf dw [Option ID = 20676]

Correct Answer :-
e 3 years or upto 70 years of age/dler ad = 70 auf ao [Option ID = 20673]

5) Which of the following can a court issue for enforcement of Fundamental Rights ?

difers SMfIPRI @ Yddel 3q oRIRICTI Soldl A TRl SRl @3 ADI 8 ?

[Question ID = 5170][Question Description = S2_qSNz_PG_HRD_Q05]
1. A decree/uww smsiftr [Option ID = 20677]

2. An ordinance/v® siencor [Option ID = 20678]

3. A notification/uwe siféryaen [Option ID = 20679]

4. A writ/uw f3c [Option ID = 20680]

Correct Answer :-
® A decree/ww amsifa [Option ID = 20677]

6) A milestone in the domain of Human Rights is the Magna Carta which was signed in :

FATCIAISIDIR @ 8 3 diooll DIl b i @I ucerR 3 BT uz 33 ad saIgr fvu arg 9 -

[Question ID = 5171][Question Description = S2_qSNz_PG_HRD_Q06]
1. 1115

[Option ID = 20681]
2. 1116

[Option ID = 20682]
3. 1215



[Option ID = 20683]
4. 1216

[Option ID = 20684]

Correct Answer :-
e 1115
[Option ID = 20681]

7) When have the amendments been made to the Protection of Human Rights Act, 1993?

Jrorarferepre Hzgn siferforar, 1993 3 e (fRpwr ad 3) ez fpu @ A -

[Question ID = 5172][Question Description = S2_qSNz_PG_HRD_QO07]
1. 1998
[Option ID = 20685]
2. 2006
[Option ID = 20686]
3. 2019

[Option ID = 20687]
4. 2006 and 2019

[Option ID = 20688]

Correct Answer :-
e 1998

[Option ID = 20685]

8) Which among the following is not a Constitutionally designated National Commission ?
Foldl A Dol AT Hdenford wu A ucfafda e et ot 3 ?

[Question ID = 5173][Question Description = S2_qSNz_PG_HRD_Q08]
National Commission for Scheduled Castes/cr siopfera sifer siRiisr [Option ID = 20689]
National Commission for Scheduled Tribes/ 1 siop]fer Stetsufer it [Option 1D = 20690]
National Commission for Human Rights/ ¢} amerarfér st [Option ID = 20691]

Union Public Service Commission/3ie clias 2xar smeist [Option ID = 20692]

A W N -

Correct Answer :-
e National Commission for Scheduled Castes /31 sigpyferd sufer sieiler [Option ID = 20689]

9) Right to Property was removed from the list of Fundamental Right during the rule of

JAufed PR oI Hiferd PRI &I I A s6Id> PRIDICT A TR 3R o -

[Question ID = 5174][Question Description = S2_qSNz_PG_HRD_Q09]

Janata Party Government headed by Morarji Desai/aiRrstt Srs &t sieigtan arefl stoiar urct 3Rer [Option ID = 20693]
BJP Govenment Headed by Atal Bihari Vajpayee/sicet feeR! srsiis o sreigian aref! &t 5t i :ror [Option ID = 20694]
Congress Government headed by Indira Gandhi/sfear sifeft @bt srezrstar areft wisRI 3R@R [Option ID = 20695]
Congress Government headed by Rajiv Gandhi/zmstla aifeft &t srezrgtar arcft wisRI :RaR [Option ID = 20696]

A w N =

Correct Answer :-

e Janata Party Government headed by Morarji Desai/#rsft 3rs &bl sreergiar arcfl Siotar urdf 2Rar [Option ID = 20693]
10) Which conceptual procedure of ‘Complaint’ is not available at the International level ?
ARSI T2 U= $oldl A Dol A RrprRa & dJaifye driguctt Sucrser o1&t 2 :

[Question ID = 5175][Question Description = S2_qSNz_PG_HRD_Q10]
. Communication/zi@r [Option ID = 20697]

. Application/fafsrisr [Option ID = 20698]

. Petition or Representation/=nferest = sw=mdger [Option ID = 20699]

. First Information Report/geper 3yaen f¥did [Option ID = 20700]

A W N -

Correct Answer :-
e Communication/ziarz [Option ID = 20697]

11) Prohibition of discrimination on grounds of religion, race, sex or place of birth is a fundamental right provided under

e, sufer, foioT A1 Siodl FeIrel @ SMIER UR NGHIA DI Yferer 334 diferd ApR @ sideia udfia 3 -
[Question ID = 5176][Question Description = S2_qSNz_PG_HRD_Q11]



Right to Equality/3mimerdr r siférsr [Option ID = 20701]

Right against Exploitation/ehwur @ fasg aiférasre [Option ID = 20702]

Right to Freedom of Religion/f3f@ Faddar @1 siféir [Option ID = 20703]
Educational and Cultural Rights/fersn ud sizafer siftrpr [Option ID = 20704]

A W N -

Correct Answer :-
e Right to Equality/m@imerar @i siféiorz [Option ID = 20701]

12) Who of the following was not a member of the Drafting Committee of the draft of the U.D.H.R. ?

Soldl 3 Dlol YIS1.EA3R. B YReUvl Afdafcr @ Ac o1l & ?

[Question ID = 5177][Question Description = S2_qSNz_PG_HRD_Q12]
1. P. C. Chang/dt3ft. afer [Option ID = 20705]

2. Jerome Shestack/srRia 9 [Option ID = 20706]

3. Hernan Santa Cruz/se erast[Option ID = 20707]

4. John Peters Humphery/simer diczf 7wt [Option ID = 20708]

Correct Answer :-
e P. C. Chang/dt3ft. afsr [Option ID = 20705]

13) Which one of the following is not a challenge in the formation of the concept of Human Rights?

$oldl A = AreTaIfRrp1R bt sraemzun forafor @1 goiledt ot Sar 3 ?

[Question ID = 5178][Question Description = S2_qSNz_PG_HRD_Q13]

1. Cultural Exceptionalism/z1izefere f&Rter [Option ID = 20709]

2. Codification of the Comprehensive Human Rights Code/qag sieraifeipr 2ifdar a1 @isiau [Option ID = 20710]
3. Doctrine of Sovereignty/ziggar RBrgia [Option ID = 20711]

4. Functions of a Minimalist State/sruds arct 3sa @ yart [Option ID = 20712]

Correct Answer :-

e Cultural Exceptionalism/zizafere Rt [Option ID = 20709]

14) To protect the Right to Life and Personal Liberty, the Court, in which case, held that 'the procedure established by
law' includes in it 'a just, fair and reasonable procedure'?

Siidet 3tz daftbd Fadgar o bR @ GV B 1T 5 ac d IRIeRI *Iazen & o1 o5 'fafér grr renftra gfagar' 3 'sarrdsta forousr siiz
Fehifr yfdpan siafdee 3

[Question ID = 5179][Question Description = S2_qSNz_PG_HRD_Q14]

1. Keshvanand Bharti v. State of Kerela/®varsic siedt gt dzerr (1) yger [Option ID = 20713]

2. A. D. M. Jabalpur v. Shukla/e.gt.ua. Stecrgz gotret dt. gen [Option ID = 20714]

3. Maneka Gandhi v. Union of India/derer sifeft sommet sire 3ier [Option ID = 20715]
4. Minerva Mills Ltd. v. Union of India/ferzar firet fé1. gomer sia 3fe [Option ID = 20716]

Correct Answer :-
e Keshvanand Bharti v. State of Kerela/dvarsig sircit dommat den (3sw) yger [Option ID = 20713]

15) Who amongst the following is not a Head of the Government ?
o131 3 Blol IIDPR BT YeITel 3 ?

[Question ID = 5180][Question Description = S2_qSNz_PG_HRD_Q15]

President of the Union of India/sma @1 acufer [Option ID = 20717]

Governor of a State/2rse @1 rsemrer [Option ID = 20718]

Prime Minister of India/#ma @t gerewicgt [Option ID = 20719]

Cabinet Secretary, Government of India/#iRa JRorR @ #fcpisa o1 didoic Afera [Option ID = 20720]

A W N -

Correct Answer :-
® President of the Union of India/#ma @t amcufer [Option ID = 20717]

16) Which type of authority can a Court exercise as a Court of Record?

IR RIRITCRI (PIE 3B IDS) B U 3 FIRIICRI A e D YD DI GRIIPI B2 ADI 3 ©

[Question ID = 5181][Question Description = S2_qSNz_PG_HRD_Q16]

. Direct control of Court on the records of the Court/RIRIcRI & 3ifdicka @ IR 3 RIRICRI D foRIqUI @I forder & Abar 8 [Option ID = 20721]

. Authority to record reasons for judgement/fowfer & a® @I yaiad war @ Ytz [Option ID = 20722]

. Authority to take cognizance and punish in contempt cases/siduireton ddeft arcl 9t st clol sl &5 Sot @I Yiftpre [Option ID = 20723]

. Settle disputes relating to record between Union and State as well as State and State/=i iz s @ #1e=r Sifdreia 3y Wi faret @1 foreret [Option ID =
20724]

A w N -

Correct Answer :-
e Direct control of Court on the records of the Court/aRIrIcrr & 3ifdicka @ dR 3 RIRICRI D forRiqur @I foiger ¢ Adar & [Option ID = 20721]



17) Which one of the following is not a 'State' for the purpose of Fundamental Rights?

forgarfeiRaa 3t A o= dHiferd 3if2rpRI & YRisene! IS ol 8 ?

[Question ID = 5182][Question Description = S2_qSNz_PG_HRD_Q17]
1. Union Executive/3idtr wriutferat [Option ID = 20725]

2. State Legislative Assembly/3rsa &t faemorien [Option ID = 20726]

3. University/frafdenerr [Option ID = 20727]

4. Trade Union/amigy 2@ [Option ID = 20728]

Correct Answer :-
e Union Executive/3iRr orfuferer [Option ID = 20725]

18) Which one of the following is not a component of Government in democracy?

forgsifciRae af A o= i difd FRDIR DI TcD oIl 3 -

[Question ID = 5183][Question Description = S2_qSNz_PG_HRD_Q18]
1. Executive/oriulferar [Option ID = 20729]
2. Free Press/zadsdq 21 [Option ID = 20730]
3. Judiciary/sarmiferast [Option ID = 20731]
4. Legislature/faenfRor [Option ID = 20732]

Correct Answer :-
e Executive/oriuferar [Option ID = 20729]

19) Which of the following term is not included in the Preamble to the Constitution of India?

forgoifeiRaa & A dler 211 ug MR Ffdensr &b 3idrmr A Aldafera a8l 3 ?

[Question ID = 5184][Question Description = S2_qSNz_PG_HRD_Q19]
1. Democratic/e@difee [Option ID = 20733]

2. Republic/smwrrser [Option ID = 20734]

3. Independent/zadq [Option ID = 20735]

4. Sovereign/3iggy [Option ID = 20736]

Correct Answer :-
® Democratic/cladifea [Option ID = 20733]
20) Which provision of the Universal Declaration of Human Rights, 1948 provides protection to life, liberty and security of

person ?
AoraifroRl &I AR dgen 1948 o fopd Iude d uftp @ Sfiaer Faddar siiz Jem @ AT DI Yraeral o srn 3

[Question ID = 5185][Question Description = S2_qSNz_PG_HRD_Q20]
1. Article 5/3mgeadg 5 [Option ID = 20737]
2. Article 6/3mjcads 6 [Option ID = 20738]
3. Article 3/amgeds 3 [Option ID = 20739]
4. Article 1/3mfeae 1 [Option ID = 20740]

Correct Answer :-
e Article 5/sgies 5 [Option ID = 20737]

21) Which type of 'relationship’ exists between ‘Right Holder' and 'Right Obligator’ for the purpose of Human Rights?

‘siférpR grd caftp’ 3R 'if2rpR ygridar' @ e AlelaifeipR @ GRilsionel b1 YR oI AHder 3iar 3 &

[Question ID = 5186][Question Description = S2_qSNz_PG_HRD_Q21]
1. Moral Relationship/sifere 2ider [Option ID = 20741]

2. Personal Relationship/dufepes 3ider [Option ID = 20742]

3. Spiritual Relationship/aifémsiiferas sider [Option ID = 20743]

4. Legal Relationship/faférs Zider [Option ID = 20744]

Correct Answer :-
e Moral Relationship/difer 2ider [Option ID = 20741]

22) What is the basic reason that provides theoretical justification for Citizenship Amendment Act, 2019 in India?

SIRIR¥dr Honer fdifora @ Agiferm siifrea @ dis #x=1 ads a=n 8 ?
[Question ID = 5187][Question Description = S2_qSNz_PG_HRD_Q22]



1. A person crosses an international border/cafep siaRrecir e @ ur war & [Option ID = 20745]

2. A person leaves the country of his origin or residence on account of persecution on the ground of religion/safep el @ smaR W 3cdtser @ BRUI 3ol el
forarR 3rerdr SMfAdRI Pl S9I BIsd2 dell sl & [Option ID = 20746]

3. A person belongs to a minority in the country of his residence/<ifep amert forart arer ot 3 sicuRiIPB WerI A & [Option ID = 20747]

4. A person has been internally displaced/afep ot @ sfiaz feenfua fepen sk & [Option ID = 20748]

Correct Answer :-
® A person crosses an international border/sifep sidarcler 2flem @t urr @w2ar & [Option ID = 20745]

23) Police and Law & Order subjects find mention in the

gfera siiz faf?r crazenr favrRe 3ccra 3 ¢
[Question ID = 5188][Question Description = S2_qSNz_PG_HRD_Q23]

Union list/ia 3t 3 [Option ID = 20749]
Concurrent list/3@acdl 3t 3 [Option ID = 20750]
Residuary list/smafdre 3t 3 [Option ID = 20751]
State list/zrser 3t 3 [Option ID = 20752]

A W N -

Correct Answer :-
e Union list/zim 3t 3 [Option ID = 20749]

24) 'SAHYOGINI' is a permanent programme of the

HTIRel v TUR PRiaH 8 :

[Question ID = 5189][Question Description = S2_qSNz_PG_HRD_Q24]

1. Delhi Commission for Women/f&eeft sifder arrilst @1 [Option ID = 20753]

2. National Commission for Women/3mr aifgen sm=iet @1 [Option ID = 20754]

3. National Commission for Human Rights/ 2l ierarférre sieitst a1 [Option ID = 20755]

4. Ministry of Women and Child Development/afaen siiz aret fdrepra1 icierr @t [Option ID = 20756]

Correct Answer :-
e Delhi Commission for Women/f&ceft aifden airiter a1 [Option ID = 20753]

25) Who is regarded as the father of Humanitarian Law and the International Committee of Red Cross (ICRC)?

forgaiferRae 3 3T foped HAeTaarardt faf?r siiR siaerIsERI 35 i Afifer &I Solp ATl SITar 3 :

[Question ID = 5190][Question Description = S2_qSNz_PG_HRD_Q25]
1. Jean Henry Durant/Sfier o1t g2ic [Option ID = 20757]

2. Jean Bodin/sftar d@if$er [Option ID = 20758]

3. T. H. Green/d.ea. sffer [Option ID = 20759]

4. John Austin/siier siif3cer [Option ID = 20760]

Correct Answer :-
® Jean Henry Durant/sflet g1t g2ic [Option ID = 20757]

26) Who was the founder of Satyashodhak Samaj?

ARIMNED AATST D ATFATUD 9 &

[Question ID = 5191][Question Description = S2_qSNz_PG_HRD_Q26]
1. M. K. Gandhi/asieon stieft [Option ID = 20761]

2. B. R. Ambedkar/sfisrema s@wds®m2 [Option ID = 20762]

3. Gopal Krishna Gokhale/siurerazeor siraet [Option ID = 20763]

4. Jyotirao Phule/siferma wet [Option ID = 20764]

Correct Answer :-

o M. K. Gandhi/stercan siieft [Option ID = 20761]

27) The Beijing Rules are related to :

‘distior formaractt fperRI JwEfiia 3 :

[Question ID = 5192][Question Description = S2_qSNz_PG_HRD_Q27]

1. UN Standard Minimum Rules for the Administration of Juvenile Justice/fpellz GIRI Sot @ fere RIep 2eg; Aol oo formrmactt [Option ID = 20765]
2. UN Guidelines for the Prevention of Juvenile Delinquency/fdsollz sraanf¥ar forarur el 3Rpep e 3a @ fGenforger [Option ID = 20766]

3. UN Rules for the Protection of Juveniles Deprived of their Liberty/¥acdar 3 dfera folRi @ 2811 @ fere ARgep g e 6l formeactt [Option ID = 20767]
4. UN Rules against Transnational Organised Crime/uwRIftcd 1S 3w & fsg 2Mgep eg A & formmactt [Option ID = 20768]

Correct Answer :-
e UN Standard Minimum Rules for the Administration of Juvenile Justice/fpolz oIrr 3ot @ fere igeh Mg, Ao o=foreal formractt [Option ID = 20765]



28) The headquarters of the Food and Agriculture Organisation is located at

arer 3R it HT661 DI HIRACH 3af¥erd 3 :

[Question ID = 5193][Question Description = S2_qSNz_PG_HRD_Q28]
1. Vienna/fezren 3 [Option ID = 20769]

2. Geneva/Spera 3 [Option ID = 20770]

3. Rome/3u 3 [Option ID = 20771]

4. New York/sifes 3 [Option ID = 20772]

Correct Answer :-
® Vienna/frren 3 [Option ID = 20769]

29) Who is the author of the books The Idea of Justice (2009) and Development as Freedom (1999)?

g st sifw s1Re?d (2009) ik aerudic Ust Blsa (1999) @ craw 3 :

[Question ID = 5194][Question Description = S2_qSNz_PG_HRD_Q29]
1. Abhijit Banerjee/sifdrsfia sorsft [Option ID = 20773]

2. Mohd. Yunus/aitesare goRt [Option ID = 20774]

3. Amartya Sen/sw@rf 3ot [Option ID = 20775]

4. John Rawls/sifer 23c21 [Option ID = 20776]

Correct Answer :-

o Abhijit Banerjee/aifirsfier qorsff [Option ID = 20773]

30) Which of the following organisations took the initiative to look into the critical issue of air pollution, and as a result, the
Supreme Court of India ordered to replace or convert all buses, three-wheelers and taxis into CNG vehicles by April 2001 ?

forgotfcri¥aa 3 A b1 Fv1o0l of ARy YgHUI @ Hawaygul Jg oI I w2l DI fon 3 usel HlI BRID Berrareu HRA B ITAA SRIICRI of Wl &=,
ferafsden arseil iz Sferil @i 3 2001 awm 2l ot it anfera arseil 3 uf¥afeia wor @1 mgor &= ?

[Question ID = 5195][Question Description = S2_qSNz_PG_HRD_Q30]

1. Ministry of Transport/uf¥aget aiqrert [Option ID = 20777]

2. Centre for Science and Environment/3ise? Bf? AR s welarRekic [Option ID = 20778]
3. Oxfam/sifaada [Option ID = 20779]

4. Ministry of Urban Affairs/es$t @wrf sicrerr [Option ID = 20780]

Correct Answer :-
e Ministry of Transport/uf¥dset siqrerr [Option ID = 20777]

31) Which one of the following was a product of a Public Interest Litigation?

forarferRaa & A =i Sreifda it @1 yferwa 3 ?

[Question ID = 5196][Question Description = S2_qSNz_PG_HRD_Q31]

1. Conversion of taxis, buses and three-wheelers to CNG/gf=mril, =il 3z feufdn arseil @1 2t wor Sit 9 Aufsader [Option ID = 20781]
2. Legislation on Disasters/smucr 2idtft femer [Option ID = 20782]

3. Guidelines on Juvenile Justice/fpollz sarr eicht f&onfoigor [Option ID = 20783]

4. Right to Education/fdten @1 aiférepre [Option ID = 20784]

Correct Answer :-
e Conversion of taxis, buses and three-wheelers to CNG/2fererl, @il siiz femufeen arseil @1 2t ot Sit 3 sfufsacddsr [Option ID = 20781]

32) Who delivered the "Four Freedoms Speech” in 1941?

foraotifepa 3 ool 0] 1941 4 "R Wisea i’ & ar ?

[Question ID = 5197][Question Description = S2_qSNz_PG_HRD_Q32]
1. Abraham Lincoln/smgsa feiaet [Option ID = 20785]

2. Franklin D. Roosevelt/dafererst. sodee [Option ID = 20786]

3. Woodrow Wilson/qgl fdestet [Option ID = 20787]

4. Martin Luther King/anf&ar cjer foser [Option ID = 20788]

Correct Answer :-
e Abraham Lincoln/sm@rsa feiwer [Option ID = 20785]

33) Juveniles should not be subjected to corporal punishment. This provision is a part of which Convention?

P9l @I oy Gus ordl f$an Sion anfde <1e Ut o=t IfRRT BT HeT & ?
[Question ID = 5198][Question Description = S2_qSNz_PG_HRD_Q33]



. Convention on the Rights of the Child/are siférbre siféeerr [Option ID = 20789]

. Convention on the Rights of Women/aféen siferer siféiert [Option ID = 20790]

. World Programme of Act for Youth/Jawmi/ Jaferil @& fere orf Adel d*aw origer [Option ID = 20791]

. Convention Against Torture and other Cruel, Inhuman and Degrading Treatment or Punishment /e 3ii 3f6el @3 3MIGIHRI 3ii2 SUIGISIGID RIABIR Al GUS
@ fawg aifdrwrr [Option ID = 20792]

A W N -

Correct Answer :-
e Convention on the Rights of the Child/are sifépr sifdrwrr [Option ID = 20789]

34) The World Environment Day is observed on

faea wrRifazor faw fopar ardla @) stoiR Sirar 3 ?

[Question ID = 5199][Question Description = S2_qSNz_PG_HRD_Q34]
1. 6 March/6 @t [Option ID = 20793]

2. 5 April/5 ae [Option ID = 20794]

3. 5 June/5 st [Option ID = 20795]

4. 8 August/8 smrxa [Option ID = 20796]

Correct Answer :-

® 6 March/6 ard [Option ID = 20793]

35) Identify the judicial decision wherein the Supreme Court described the right to die with dignity as a part of the right to
life

3 iR forvfa ol Rifoaa difsre R Icaad cARICR of 1R & AT P D fAUPR DI RS ‘SHiael ®I PR’ & Pl & U i &I :

[Question ID = 5200][Question Description = S2_qSNz_PG_HRD_Q35]
1. Aruna Shanbaug case/smsun sif#amr arg [Option ID = 20797]

2. Common Cause Case on Euthanasia/3@sEy @1 mie arur [Option 1D = 20798]
3. Gian Kaur's case/frimet @lot arg [Option ID = 20799]

4. P. Ratinam's case/d. 3rowt arg [Option ID = 20800]

Correct Answer :-
® Aruna Shanbaug case/swsun sifsamer arg [Option ID = 20797]

36) About Article 32 of the Constitution of India, who said, "It is the very soul of the Constitution and the very heart of it"?

HRCARI JAfderst @ 3efede 32 @ ar A ol el o - "Js JAfderet &l sear 3
[Question ID = 5201][Question Description = S2_qSNz_PG_HRD_Q36]

1. Jawaharlal Nehru/Smarszetiet aig2 [Option ID = 20801]
2. Sardar Patel/3erR ueer [Option ID = 20802]

3. B. R. Ambedkar/sfierma s@as®z [Option ID = 20803]
4. M. N. Roy/uwawer3fer [Option ID = 20804]

Correct Answer :-
e Jawaharlal Nehru/Smrssetet sig [Option ID = 20801]

37) When did the statute for the establishment of the International Criminal Court enter into force?
ARSI TURITID SARIICRT Ffafer fovar ad yador af s ©

[Question ID = 5202][Question Description = S2_qSNz_PG_HRD_Q37]
1. 2002

[Option ID = 20805]
2. 1951

[Option ID = 20806]
3. 1948

[Option ID = 20807]
4. 1945

[Option ID = 20808]
Correct Answer :-
e 2002

[Option ID = 20805]

38) The National Commission for Human Rights was constituted on



ICERT ATGIAIRIPTR 3TRIISI I 31661 B o srm ©

[Question ID = 5203][Question Description = S2_qSNz_PG_HRD_Q38]
12th July, 1993/12 geis, 1993 [Option ID = 20809]

12th August, 1993/12 sprd, 1993 [Option ID = 20810]

12th September, 1993/12 Biasaz, 1993 [Option ID = 20811]

12th October, 1993/12 smacaz,1993 [Option ID = 20812]

A WN -

Correct Answer :-
o 12t July, 1993/12 gems, 1993 [Option ID = 20809]

39) Which one of the following labour strikes was led by M. K. Gandhi?

Jraican sniell of fopa 9Jfdrp ssare @I olged fepam ar ?

[Question ID = 5204][Question Description = S2_qSNz_PG_HRD_Q39]

. Ahmedabad Textile Strike in 1918/ seacTErG wusT @t ssdre, 1918 [Option ID = 20813]

. Jamshedpur Steel Strike in 1928-29/smdicyz s2ur wrRxwen 5drc, 1928 - 29 [Option ID = 20814]
. Strike in Assam Tea Gardens in 1921/3rme1 arEEIe &saret, 1921 [Option ID = 20815]

. Strikes in Calcutta Jute Mills in 1919-20/wetmar Sic Bt ssaret, 1919 - 20 [Option ID = 20816]

A W N -

Correct Answer :-
o Ahmedabad Textile Strike in 1918/ s@dcarG wust i asac, 1918 [Option ID = 20813]

40) Which term has been used in Article 19 of UDHR in place of the Right to Information?

HAGMEIRIDRI Bl AP Agvn (ISITR) D e 19 3 el I PR D FeIlel UR fhA Ug @I YieI s sk 8 :

[Question ID = 5205][Question Description = S2_qSNz_PG_HRD_Q40]
Freedom of Broadcasting/gzirur &t Facdgar [Option ID = 20817]

Right to Communication /@R 1 sifelpre [Option ID = 20818]

Right to Freedom of Opinion and Expression/a sfiz siféieifep ot siférare [Option ID = 20819]
Freedom of Information/3gen &t Faddgar [Option ID = 20820]

A wN =

Correct Answer :-
e Freedom of Broadcasting/yzmur &t Jadqar [Option ID = 20817]

41) Which of the following statements are true about Gramsci?
A. Gramsci is regarded as a Neo-Marxist.

B. Gramsci talked about hegemony.

C. Gramsci was in favour of the capitalist economic system.

D. Gramsci talked about the 'war of position'.

Choose the most appropriate answer from the options given below:

forgot 3 A Plet - A 3f¥rperct JElt DaR Aaa 3 ?

A. ool @l o - sraRiardt Aol Sirar 3

B. syl o yremmoer & and 3f ara &

C. syeolt goltardt snffe gunett & ugt &

D. spaoft of ‘sraf¥afer & Ig' & ar 3 aa b &

i) feu a1u famedl 3 A A8 IR D1 TRIet B :

[Question ID = 5206][Question Description = S2_qSNz_PG_HRD_Q41]

1. A, B and C only/daet A, B siiz C [Option ID = 20821]
2. A, B and D only/a5aet A, B siiz D [Option ID = 20822]
3. A, Cand D only/dact A, C siiz D [Option ID = 20823]
4. B, C and D only/dsaet B, C siiz D [Option ID = 20824]

Correct Answer :-
e A, Band Conly/aae A, B siiz C [Option ID = 20821]

42) Law enforcing agencies include
A. Police

B. Military

C. Para-military forces

D. Private Security Agencies



Choose the correct answer from the options given below:

Dlojol & DRIfeaIol Pl weilrIl 3 onfdrer 3 :

A. gferar

B. 3o

C. aref - 3o e

D. forsft J2gn el

ofi o s1u fwedl & A A8 IR BT wRI6l BT :

[Question ID = 5207][Question Description = S2_qSNz_PG_HRD_Q42]

A and B only/d>act A siiz B [Option ID = 20825]

A, B and C only/a@aa A, B siiz C [Option ID = 20826]
A, B and D only/@aet A, B 3iiz D [Option ID = 20827]
A, C and D only/@saet A, C siiz D [Option ID = 20828]

A W N -

Correct Answer :-
e A and B only/dact A siiz B [Option ID = 20825]

43) Which of the following ideas are associated with M. K. Gandhi?
A. Trusteeship

B. Modern Industrialization

C. Sardovaya

D. Ram Rajya

Choose the correct answer from the options given below:

forgot 3 A lat - A F@arR! ol sifeh A Sl @2 Szar s 8 ?

A. Féfoa

B. smgform sitenBrblaur

C. ydfca

D. wwra

il feu sru faresedl 3 A A8 IR D1 WRIel B :

[Question ID = 5208][Question Description = S2_qSNz_PG_HRD_Q43]

A and B only/daet A siiz B [Option ID = 20829]
B and C only/a@aet B siiz C [Option ID = 20830]
A. B and C only/d@act A, B sfiz C [Option ID = 20831]
A, C and D only/dsaet A, C siiz D [Option ID = 20832]

A w N =

Correct Answer :-
® A and B only/@aet A 3iiz B [Option ID = 20829]

44) Which of the following are true about the European Convention on Human Rights?

A. It provides for the European Court of Human Rights.

B. It classifies rights as absolute, limited and qualified.

C. It recognises the jurisdiction of the International Court of Justice over the domestic affairs of its member states.
D. It is based on the theory of cultural exceptionalism.

Choose the correct answer from the options given below:

forgot 3 A Blat - AT AGTAIRRIBR Heael & ar 3 I 3 ?

A. 33731 AGTAIfIPR @ IRIURI RIRICRI I YIaeie 3

B. us siferrRl @1 gul, Mifira vd & wu 3 geffaa wear 3

C. I3 3UGl AGRI AT D T¥¢I AMCI UR ARISERI ARIICRI @ PR 8ie] DI A=Al Sell
D. s @it smacraed @ Rigia uz snenfya 3

il feu aru faeedl 3 A A8 IR D1 WRIet B :

[Question ID = 5209][Question Description = S2_qSNz_PG_HRD_Q44]



A and B only/@act A 3iiz B [Option ID = 20833]

A, B and C only/dact A, B siiz C [Option ID = 20834]
A, C and D only/dsaet A, C siiz D [Option ID = 20835]
B, C and D only/dact B, C sfiz D [Option ID = 20836]

A W N -

Correct Answer :-
e A and B only/daer A siiz B [Option ID = 20833]

45) Third generation rights do not include
A. Right to Peace

B. Right to Peaceful Assembly

C. Right to Food

D. Right to Clean Environment

Choose the correct answer from the options given below:

dierdl didt o siferprRl 3 Blet - a1 9nfier o8 3 :

A. orifer @1 SiférpR

B. orifergut J1eir o1 SifdrpR

C. #iStel @I PR

D. oo uaiarur @I ifier

il fou s1u Rrepeul 3 A I IR BT a6l HIfSIE ©

[Question ID = 5210][Question Description = S2_qSNz_PG_HRD_Q45]

A and B only/@act A 3iiz B [Option ID = 20837]
B and C only/adact B sfiz C [Option ID = 20838]
C and D only/dsaet C siiz D [Option ID = 20839]
A and D only/@act A siiz D [Option ID = 20840]

A W N -

Correct Answer :-
® A and B only/@act A 3iiz B [Option ID = 20837]

46) Which of the following statements are correct on the Maintenance and Welfare of Parents and Senior Citizens Act?
A. Year of enactment is 2007.

B. Provisions for old age homes and maintenance allowances.

C. Provisions for fines that keep increasing on every subsequent defiance.

D. Prescribes penalty for abandoning senior citizens - imprisonment or fine or both.

Choose the correct answer from the options given below:

I - e 3iie af¥so IRIRas I 91701 - TN den dervl Mf2forREI & an 3 foret 3 A Bla AT sifdipers AW 8 -
A. siferforiaret o1 ad 2007 3

B. ggropeil ud 3xaEm@ srdl b1 Yraeliel B3l 3

C. Sufel &I yraenet ol 3 Sil RN e Sifol arcfl 82 3/@asl UR a6l Sidr 3

D. afyss sieIf¥e! @l Al 8 BIS Sol U 3 B YIatilel Bl 3 - g, SAfel AT Sloll

ofid 3w s1u feseal & A A8 IR BT <RIl HIRIT :

[Question ID = 5211][Question Description = S2_qSNz_PG_HRD_Q46]

1. A, B and C only/@aet A, B siiz C [Option ID = 20841]
2. B, Cand D only/a@aa B, C sfiz D [Option ID = 20842]
3. A, Cand D only/a>aet A, C siiz D [Option ID = 20843]
4. A, B and D only/dsaet A, B siiz D [Option ID = 20844]

Correct Answer :-
e A, Band Conly/dact A, B 3iiz C [Option ID = 20841]

47) Which of the following regional organizations have adopted the human rights charter for their member states?
A. League of Arab States
B. European Union

C. SAARC



D. Organization of American States

Choose the correct answer from the options given below:

forgot 31 A fpol Yreidra FsIoall of 31Uol A - Al D f1e AeraIiirr arés @l sivllor v 3 :
A. cfier 3ifw sRa Feca

B. JRIftRIoT Jforior

C. I B

D. siferenssiornd 3iiw @ifsael 3ot

ofid o s1u faseal & A A8 IR BT <RIl HIfvIT :

[Question ID = 5212][Question Description = S2_qSNz_PG_HRD_Q47]

A and B only/d>qet A siiz B [Option ID = 20845]
A and C only/dbaet A siiz C [Option ID = 20846]
A, B and C only/dact A, B 3iiz C [Option ID = 20847]
A, B and D only/@aet A, B aiiz D [Option ID = 20848]

A W N -

Correct Answer :-
e A and B only/daaet A siiz B [Option ID = 20845]

48) Which of the following statements are true about the Consumer Protection Act, 2019?

A. Repeals the Consumer Protection Act, 1986

B. Amends the Consumer Protection Act, 1986

C. Proposes the establishment of the Consumer Disputes Redressal Commissions at the national, state and district levels
D. Proposes to scrap the Central Consumer Protection Authority

Choose the correct answer from the options given below:

IUITHT eI if2iforp, 2019 & ar 3 foror 3 A Pl - AT 3ifdrperet & 3 ?

A. 3usiiep1 et siftrforir, 1986 I forRra v 3

B. Susireer dzgivr aifeiformar, 1986 ol Honfera o 3

C. ¢RI, 35w vd Rie a2 uz Susild! fdare forucTel 3MRIBT dollol BT Ydrd Bl &
D. & SusiithT Y01 Bl 3E Bt DI YIdrd Bl 3

ofid fou s1u fwseal # A A8 IR BT wRI6T BT :

[Question ID = 5213][Question Description = S2_qSNz_PG_HRD_Q48]

A and B only/d>qet A siiz B [Option ID = 20849]
C and D only/@aet C sfiz D [Option ID = 20850]
A and C only/d@act A siiz C [Option ID = 20851]
B and C only/dsaet B iz C [Option ID = 20852]

A wWwN =

Correct Answer :-
e A and B only/@aet A 3iiz B [Option ID = 20849]

49) Which of the following cities are associated with war crime trials?
A. London

B. Tokyo

C. Berlin

D. Nuremberg

Choose the correct answer from the options given below:

forgot 31 A dlel -A 9182 Jg URTEl Rrarvll A Aag 3 ?

A. cicet

B. =it

C. afefor

D. syzarest

ofid 3w o1 feal & A A8 IR BT wRI6T HIfdIT :

[Question ID = 5214][Question Description = S2_qSNz_PG_HRD_Q49]



A and B only/dsact A siiz B [Option ID = 20853]
A and D only/d@act A siiz D [Option ID = 20854]
B, C and D only/a@qet B, C siiz D [Option ID = 20855]
B and D only/@det B 3iiz D [Option ID = 20856]

A W N -

Correct Answer :-
e A and B only/@act A 3iiz B [Option ID = 20853]

50) When is unequal treatment permissible?

A. Unequal classification is made on the ground of the place of birth.
B. When there is a special provision for women and children.

C. Unequal classification is made on the ground of race.

D. Reservation is made in favour of backward class of citizens, when in the opinion of the state, they do not have adequate
representation in the services under the state.

Choose the correct answer from the options given below:

3RTHATe] RIGER P 3L 3 ?

A. 31916l TR STodelrel o 3MMER UR v Sirar 8

B. sta aifgesil afiz sl 3q fadw graeirsr w2l didr 3

C. 3R1aTel geflauT ol @ 3nerR Uz fop=n siar 3

D. S s & IR d Isnefior Aansii 3 omeifydl & fUss st o1 u=ita yfifcifira o1él siar aY s asf @ usr 3 sm=gvr s sirar 3
ofi o s1u fwedl & A A8} IR @I wRI6l HifvrT :

[Question ID = 5215][Question Description = S2_qSNz_PG_HRD_Q50]

B and C only/dsaet B siiz C [Option ID = 20857]
C and D only/aaet C 3fiz D [Option ID = 20858]
A and D only/a@aet A siiz D [Option ID = 20859]
B and D only/@qet B 3iiz D [Option ID = 20860]

A W N -

Correct Answer :-
e B and C only/aaa B siiz C [Option ID = 20857]

51) Which of the following are correct regarding a Welfare state?
A. It aims to bring about public welfare.

B. It is incompatible with a mixed economy.

C. It is incompatible with liberal ideology.

D. It is based on a system of taxation.

Choose the most appropriate answer from the options given below:

A wereil o1 fifsea Hifse -

A. DCAVIBHE ISA DI 39 STGIDCAIVT BIAT 3

B. wcoreis s Bifdfa srefeaazen @ siolayet ofél drar

C. DAl IS IGRAIET faaRenT @ aiofael ofdl Sidr

D. ©caorBEl IS BALeT Yullcll Uz srenfyda iar 3

ofi o s1u fwseal & A A8 IR BT <RI BT :

[Question ID = 5216][Question Description = S2_qSNz_PG_HRD_Q51]

1. Band C only/a@aet B sik C [Option ID = 20861]
2. Aand D only/daer A siiz D [Option ID = 20862]
3. Aand B only/dact A 3iiz B [Option ID = 20863]
4. Cand D only/dsaet C siiz D [Option ID = 20864]

Correct Answer :-
e Band C only/adda B siiz C [Option ID = 20861]

52) Why have Constitutional Amendments become a necessity after inserting the term 'Secularism' in the Preamble of the
Constitution?

A. To achieve the goal of the term 'Secularism’.

B. Quota should be there for the followers of different religions.



C. There should be no favour for the followers of different religions.
D. Provision of Minority should not be there in a secular state.

Choose the most appropriate answer from the options given below:

Rl Jifdens &l 32forpt 9 "derforuer’ 9res sidfdte fepu sirel @ uirq Afeenst Folerst =il siforart &l srm 3 ?
A. 'derforiier’ orec @ gt B gifit 3q

B. 3rcror - 3rcro1 e & 3oRNRRI & fore et dlon arfdw

C. fafdroot eptiaciferil @ e @I usiurd ol fop=n Sirelr anfde

D. fRpeit et forrter 2rsw 3 srcURITA® AASRT B fére Iuder o1dl glor anfdw

il feu aru el 3 A A8 IR D1 WRIel B :

[Question ID = 5217][Question Description = S2_qSNz_PG_HRD_Q52]

. A and B only/dact A siiz B [Option ID = 20865]
. B and C only/a@act B siiz C [Option ID = 20866]
. Aand C only/daer A siiz C [Option ID = 20867]
. A and D only/dact A siiz D [Option ID = 20868]

A w N =

Correct Answer :-
® A and B only/@aet A 3iiz B [Option ID = 20865]

53) Which of the following statements are correct?

A. Caste is a form of social stratification.

B. Caste system is based on the occupational division of labour.

C. Caste system was criticised by E. V. Ramaswamy Naicker, "Periyar".

D. Varna and caste are the same things.

Choose the most appropriate answer from the options given below:

Soldl A Plol A DA A3l 3 -

A. sifer A Fav1 oI yor 3

B. suferarc ot @ Uon smenfea s o= smenfya 3

C. 34l emrant okam: UREiR' o sufiarc &t ke & s oft

D. quf 3iiz sufer Qe et 3

il fou s1u frapeul 3 2 & 3R BT a6l HIfSIE ©

[Question ID = 5218][Question Description = S2_qSNz_PG_HRD_Q53]

A, B and C only/@aet A, B 3iiz C [Option ID = 20869]
B, C and D only/adaet B, C siiz D [Option ID = 20870]
A and D only/dbaet A siiz D [Option ID = 20871]
B and D only/dqct B sfiz D [Option ID = 20872]

A WN =

Correct Answer :-
e A, Band C only/aact A, B iz C [Option ID = 20869]

54) Who among the followings are the deemed members of NHRC?
A. Chairpersons of NCSC, NCST, NCBC, NCM.

B. Chief Commissioner for the Person with Disabilities.

C. Chairpersons of NCW and NCPCR.

D. Chairpersons of State Human Rights Commissions.

Choose the correct answer from the options given below:

Soldl A Dlol Wol. Td. 3R. 2, & mfora A= 3 -

A. vor 3 v 3ft, va Al v &, v A &t A, vor A v D sreaer
B. omdifyd U A 39rd ARl D ARNGT D IR IIR[D

C. uor 3l secy 3ii? wet Al Ul 21 3R D sreast

D. =1 AGTaIf2IpR 3MRIPI & 3reast



ofia f&u s1u farapeul 3 A 2t IR DI R DIferm
[Question ID = 5219][Question Description = S2_qSNz_PG_HRD_Q54]

1. A, B and D only/adact A, B siiz D [Option ID = 20873]
2. B, C and D only/daer B, C siiz D [Option ID = 20874]
3. A, Band C only/daer A, B siiz C [Option ID = 20875]
4. A, Cand D only/d@aer A, D siiz C [Option ID = 20876]

Correct Answer :-
® A, Band D only/aaet A, B 3iiz D [Option ID = 20873]

55) Identify correct statements about the United Nations Security Council.

A. It has five permanent members.

B. It has ten non-permanent members.

C. Nine votes are required for decisions including votes of the five permanent members.
D. Its resolutions can be legally binding.

Choose the correct answer from the options given below:

AYTd ASA Jre ulng A A 3 weuel @l Rifssa Hifsre :

A. U uia Fer$ AT

B. 3ud> g3 3 errs A 3

C. fep2ft forofr & fore uiar Fend AAGA & AT oif Al D dle 6l smagadar ardl 3
D. s ey faftrs U A areadrt 8 Add 3

ofid fou o1 el 3 2 A8t STz gl ¢

[Question ID = 5220][Question Description = S2_qSNz_PG_HRD_Q55]

A and B only/d>qet A siiz B [Option ID = 20877]

A, B and C only/@aet A, B iz C [Option ID = 20878]
A, B and D only/dact A, B sfiz D [Option ID = 20879]
A, B, C and D/A, B, C siiz D [Option ID = 20880]

A W N -

Correct Answer :-
® A and B only/@aet A 3iiz B [Option ID = 20877]

56) Which institution(s) cannot be sued for violation of Fundamental Rights, when the right obligator is a state?
A. Port Trust of India.

B. Educational Institution established and maintained by a private person.

C. Judiciary for its administrative functioning.

D. Vegetable sellers association.

Choose the most appropriate answer from the options given below:

S If2IPR &I AU B Al I S9Nl DY Alferd AUBRI BT Iccizrel Blot UR b e / Azensil & farg ac o1dl acrRn s JAwdar 3 -
A. eI utiel st

B. =il forsil caftp gRI Ferfte 3iiz srepida IgiivrD e

C. 3AD YIrRIfors e @ 18 sarIuIferT

D. wesht Rrayarsia

i) feu s1u farmedl 3 A A8 IR @1 TRIet BRI :

[Question ID = 5221][Question Description = S2_qSNz_PG_HRD_Q56]

1. A and B only/dact A siiz B [Option ID = 20881]
2. B and C only/dact B siiz C [Option ID = 20882]
3. B and D only/a>qe B siiz D [Option ID = 20883]
4. Aand C only/a5aet A siiz C [Option ID = 20884]

Correct Answer :-
e A and B only/daer A 3iiz B [Option ID = 20881]

57) ldentify the correct statements about United Nations Environment Programme (UNEP)

A. UNEP was founded in 1972.



B. As the principal UN body in the field of environment, UNEP sets the global environmental agenda.
C. There is no connection between UNEP and United Nations Environment Assembly (UNEA).
D. Natural and man-made disasters constituted one of the major priorities of the UNEP during 2014-17.

Choose the correct answer from the options given below:

YD A, TRITRYT GIoJia A A 3él il ol usanfery :

A. g gor $t ot Bt zemaor 1972 @ 5 ot

B. wrifarur & i) & ygra b g fordrr @ U # I el $ dl, dfaw uiaur wsls ot forerfzor wear 3
C. g wot $ Ul ud HYTH A, URITARUT AHT B HEA PIS Ader oldl 3

D. 2014 - 2017 o Sirel Yrapferad wd wpfcfat 3UST of Y Gol § Ul bl Fzoa yreifdrasdr @i forafur o
il fou s1e frpeul 9 A A& IR BT TI6T HIfSIE ¢

[Question ID = 5222][Question Description = S2_qSNz_PG_HRD_Q57]

A, C and D only/daer A, C 3iiz D [Option ID = 20885]
A, B and D only/dsaet A, B aiiz D [Option ID = 20886]
A, B and C only/a@aa A, B siiz C [Option ID = 20887]
A and C only/d@act A siiz C [Option ID = 20888]

A wWw N =

Correct Answer :-
e A, Cand D only/adact A, C siiz D [Option ID = 20885]

58) Identify the freedoms, which protect rights relating to faith, belief, worship and religion.
A. Conscience and free profession, practice and propagation of religion.

B. Practice any profession or carry on any occupation.

C. Attendance at religious instruction or worship in certain educational institutions.

D. Assemble peaceably and without arms.

Choose the most appropriate answer from the options given below:

I Facqr ol Rifoaa difste S o f[avar, smrer, gsi ud e A AdEa foR o AgI0T Bl 8 -
A. @ vd Fadoeq SIGRIRI, €E{ BT Ulciol Ud JRIR

B. @l¥ 91l cuaIrRT @l wd ol 9ff U9l @I wrizu Soir

C. enfdfer 3ugor 3 s1PT cloll A1 eI a6l 3 IURTGN Boll

D. fer 3¢ ol @ grifergda sd5T Blol

il fou s1u fRrpeul 3 A & 3R BT a6l HIfSIE ©

[Question ID = 5223][Question Description = S2_qSNz_PG_HRD_Q58]

. A and B only/@act A 3iiz B [Option ID = 20889]
. B and C only/dact B siiz C [Option ID = 20890]
. B and D only/dact B siiz D [Option ID = 20891]
. Aand C only/daer A siiz C [Option ID = 20892]

A W N -

Correct Answer :-
e A and B only/daer A siiz B [Option ID = 20889]

59) Which of these statements are not part of the Article of UN Charter?

A. To promote Human Rights without distinction of race, sex, language or religion.
B. To promote International Peace and Severity.

C. To foster respect for International law.

D. To fight against corruption and terrorism.

Choose the correct answer from the options given below:

SoTdl A DBIoRI BT IYTD A, AT D UGG D 3IH9I oIl 3 -

A. srfer, feier, s A et @ ficwra @ el ATGIAISIPR DI SGIal Soll
B. siceersSiw orifer siiz J2eir @1 agrar Solt

C. 3IARRIERI PBlolel @ AFATSl DI [ADPRIA Dol



D. e iR siidmalc @ g aison
o fu s1u farapeul 3 A 2t IR BT R DI :
[Question ID = 5224][Question Description = S2_qSNz_PG_HRD_Q59]

C and D only/dsaet C siiz D [Option ID = 20893]
A and B only/dact A siiz B [Option ID = 20894]
B and C only/adqet B siiz C [Option ID = 20895]
B and D only/@qet B 3iiz D [Option ID = 20896]

A W N -

Correct Answer :-
e C and D only/a@aer C siiz D [Option ID = 20893]

60) Which of the statements are true about the Directive Principles of State Policy vis-a-vis similar one:

A. In the UN charter it is like purposes and principles.

B. In the Spanish Constitution, it is called the Social Principles of State Policy.

C. In the Government of India Act, 1935 it is known as the Instrument of Instructions.

D. In the International Bill of Rights, it is called International Convention on Economic, Social and Cultural Rights.

Choose the correct answer from the options given below:

$o1dl A Dol A DA IS D ofifer PIE9rD dra A1 VA 3o D Adea A A~A T ?

A. Juar. arés # A8 YRS 3k Rigidl @ aeor 3

B. 30a o faenst 3 33 s Glifer & ARNRIe Rigia @ oie 2 Silel SIrdr &

C. sireilRr omtot siferforrar, 1935 3 A6 3eI9I @ SFAIASI D ofidl A Sl Sl 3

D. siqrars¢l sif2rprR uq 3 s snfdics, ARNRe vd Airafiae RieRI Fdel siarsdR SRR & ol[t A SIiell Sl 3
sifal fou s1u faeul 3 A 8l IR @I el HIRE ¢

[Question ID = 5225][Question Description = S2_qSNz_PG_HRD_Q60]

. A, Band C only/dqet A, B siiz C [Option ID = 20897]
. B, Cand D only/@aer B, C siiz D [Option ID = 20898]
. A, B,Cand D/A, B, C3iiz D [Option ID = 20899]

. A, Cand D only/a@aet A, C siiz D [Option ID = 20900]

A w N =

Correct Answer :-
e A, Band C only/@ad A, B siiz C [Option ID = 20897]

61) Which of the following are related to Article 14 of the Constitution of India?
A. Reasonable classification.

B. Pith and Substance.

C. Non-arbitrariness.

D. Intelligible Differentia.

Choose the most appropriate answer from the options given below:

forgot 3 A dlat -AT HRA B JAfdenot @ sgfeds 14 A Addfea 3 ?

A. gRpYgd gofiasur

B. r=ior srerar AR

C. scaERe®mar

D. ditrmRI i

oifd fu sru frpeul 3 A Al IR DI TR DIfST :

[Question ID = 5226][Question Description = S2_qSNz_PG_HRD_Q61]

1. A, Cand D only/dac A, C 3iiz D [Option ID = 20901]
2. B,Cand D only/@qe B, C siiz D [Option ID = 20902]
3. A, Band C only/a@aet A, B siiz C [Option ID = 20903]
4. A, B and D only/dact A, B siiz D [Option ID = 20904]

Correct Answer :-
e A, CandD only/dact A, C siiz D [Option ID = 20901]

62) Under Article 22 of the Indian Constitution, which of the following laws have been enacted?



A. Preventive Detention Act, 1950

B. National Security Act, 1980

C. Maintenance of Internal Security Act, 1980
D. Bonded Labour Prevention Act, 1976

Choose the correct answer from the options given below:

HRA @ JAfderet @ 3iofcds -22 & sicela forgst A A Blal AT Bigfot sifeiforifda s s ?
A. forara forer siftrformer, 1950

B. sl e siferforzar, 1980

C. 3rrify® F8 @I 3xwM ftore, 1980

D. dfra gy forareur siftiforme, 1976

il feu s1u fareedl 3 A A8 IR @1 WRIel B :

[Question ID = 5227][Question Description = S2_qSNz_PG_HRD_Q62]

A, B and C only/d@aet A, B sfiz C [Option ID = 20905]
B, C and D only/d@aa B, C siiz D [Option ID = 20906]
A, B and D only/d@aa A, B siiz D [Option ID = 20907]
A, C and D only/daet A, C sliz D [Option ID = 20908]

A w N =

Correct Answer :-
e A, Band Conly/aac A, B siiz C [Option ID = 20905]

63) Which of the following are not specialized agencies of the UN?
A. Food and Agricultural Organisation

B. International Labour Organisation

C. United Nations Development Programme

D. World Health Organisation

E. United Nations Population Fund

Choose the correct answer from the options given below:

forgot 3 A it - M AP e B fadrdiaya wai=il ol & ?

A. wrer wd ofture FHe166t

B. siceredi 9pa isIool

C. g g [ oriaga

D. fora Farex Jsiool

E. 3y e SterRizen forfér

il fou s1u frapeul 3 A & IR BT a6l HIfSIE ¢

[Question ID = 5228][Question Description = S2_qSNz_PG_HRD_Q63]

A and C only/dbaet A siiz C [Option ID = 20909]
B and D only/d3qet B siiz D [Option ID = 20910]
C and E only/a@ae C iz E [Option ID = 20911]
B and C only/adact B sfiz C [Option ID = 20912]

A WN -

Correct Answer :-
e Aand C only/aact A siiz C [Option ID = 20909]

64) Which of the following are liberal thinkers?
A. John Locke

B. J S Mill

C. Rosa Luxemburg

D. John Rawls

Choose the most appropriate answer from the options given below:

forgot 3 A wlel -A IeRAK] Rids & ?



A. Sifor cife

B. & wa. firer

C. 351 craeest

D. sifet I@c=n

ofid o s1u faseal & A A8} IR BT wRI6l BT :

[Question ID = 5229][Question Description = S2_qSNz_PG_HRD_Q64]

A, B and D only/d@act A, B sfiz D [Option ID = 20913]
A, B and C only/@aet A, B 3iiz C [Option ID = 20914]
B, C and D only/aaet B, C siiz D [Option ID = 20915]
A, Cand D only/dsaet A, C siie D [Option ID = 20916]

A W N -

Correct Answer :-
e A, Band D only/aac A, B siiz D [Option ID = 20913]

65) Who among the following are theorists of Justice?
A. John Rawls

B. Amartya Sen

C. Robert Nozick

D. George Wilhelm Friedrich Hegal

E. T. H. Green

Choose the correct answer from the options given below:

forgot 3 A Bl - A carI Adeh Rigiaor 3 ?

A. sifel A

B. spicf Aot

C. 3 dlifsrs

D. Sifst farcesa Bsfie dorer

E. &ua. sffa

ofid fou a1 fwseal & A A8 IR BT wRI6T BT :

[Question ID = 5230][Question Description = S2_qSNz_PG_HRD_Q65]

A, B and C only/@aet A, B 3iiz C [Option ID = 20917]
A, C and D only/dsaet A, D siiz C [Option ID = 20918]
B, C and E only/aact B, C siiz E [Option ID = 20919]
B, C and D only/d@aer B, C siiz D [Option ID = 20920]

A w N =

Correct Answer :-
e A, Band Conly/@ac A, B siz C [Option ID = 20917]

66) Match List | with List Il

List | List Il

Authors Books

A. John Locke |l. The Social Contract

B. J. J. Rousseaulll. Two Treatises of Government
C. J S Mill lll. Das Capital

D. Karl Marx IV. On Liberty

Choose the correct answer from the options given below:

et -1 B g -1l A g e

et -1 il

(craeD) (fepard)

A. Sifol cifd |. g dloreT wiocac

B. SL o1 Al Il. 5 Q& sifer araoidic
C. sru. firer Ill. ero1 Ditieer

D. rct aAra=t IV. sifer feraét

ofla fou o1 frseul 3 3 A IR gforw ¢
[Question ID = 5231][Question Description = S2_qSNz_PG_HRD_Q66]

1. A-1I,B-1,C-1IV, D - Ill [Option ID = 20921]



2. A-1,B-1ll,C-1l, D -IV[Option ID = 20922]
3. A-IV,B-Ill, C-1,D- Il [Option ID = 20923]
4. A-1ll,B-1V,C-Il, D -1[Option ID = 20924]

Correct Answer :-
® A-Il,B-1,C-1V,D-Ill [Option ID = 20921]

67) Match List | with List Il

List | List Il

IWrits Concepts

IA. Habeas Corpus I. Asking a specific person about his legal right to hold the public office he occupies
B. Quo Warranto Il. Directing a person holding public office to perform the duties attached to his office
C. Mandamus lll. Superior court directing a subordinate court to review its decision

D. Certiorari IV. Produce a person arrested before court

Choose the correct answer from the options given below:

et -1 Bt 3l -1l A AR Hifre

et -1 et -l

(CleaD) (FipcuoId)

A. rRIBRUA ||, Rl fafdrse safep 3 fRp=it Jdsifores uc UR ot ol &
(46 grasfipeor) 3 Dlefell PR & ar 3 ysel

B. @ diorscy Il. foo=ft ardsifores uc uz smefier b2t cafts @ 31 uc A
(31ferprR gest) RI¥Eg; doil @ forsurger @ fere waon

C. JsoarAa lll. fop=ht Ul scrcra grr bl foracht sicrera @t sruor
(TR3AIS91) forufer uz geifdfar oo @ fére weon

D. Aféssiidt (Sequun)|lV. BRUAR fibu s1w cafth @I 3[6Icld @ ol U9l DIl
oiiI fSu are famedl 3 A A8 IR ot :

[Question ID = 5232][Question Description = S2_qSNz_PG_HRD_Q67]

A-1V,B-1,C-1lll, D - Il [Option ID = 20925]
A-1ll,B-1,C-1l,D - IV [Option ID = 20926]
A-1V,B-1,C-II, D - lll [Option ID = 20927]
A-1V,B-1l,C-1ll, D - | [Option ID = 20928]

A WN -

Correct Answer :-
e A-IV,B-1,C-Ill,D- Il [Option ID = 20925]

68) Match List | with List Il

List | List Il

IMovements Leaders

A. Chipko Andolan I. Swami Agniwesh

B. Narmada Bachao Andolan Il. Jaipal Singh

C. Jharkhand Andolan Ill. Sundarlal Bahuguna
D. Bandhua Mukti Morcha Andolan|lV. Medha Patkar

Choose the correct answer from the options given below:

et -1 Bt 3l -1l A AR Hifre

Rxeht -1 il

(31icictor) (ote)

A. Rraml sricieret |. amt sifdstaer
B. orafer amail sriciciol Il. srrurer RBiz

C. sIR¥S sficielsl Ill. Jgerrer agapon
D. sig3n Ffep skl sricicrol IV. denm e

oifa feu aru faasedl 3 A 8 3R gforu :
[Question ID = 5233][Question Description = S2_qSNz_PG_HRD_Q68]

A-1,B-1l,C-1l,D-IV[Option ID = 20929]
A-11,B-1V,C-IllIl, D-1[Option ID = 20930]
A-1,B-1l,C-1V,D-Ill [Option ID = 20931]
A-11,B-1v,C-Il, D -1[Option ID = 20932]

A w N =

Correct Answer :-
e A-I,B-Ill,C-Il,D-IV[Option ID = 20929]

69) Match List | with List Il

IList | LList Il




Oath Administered by

A. Chief Justice of India I. Governor
B. Member, Council of States |ll. Chief Justice of India
C. President, Union of India [lll. Chairman, Council of States|

D. Chief Justice of High Court|V. President of India
Choose the correct answer from the options given below:

gl -1 @1 3 -1l A Fgarfera Hifsre ¢

oxet -1 ot -l

(oraer) (fScrarot are)

A. HRA D TR RARMERIT |. Irseruret

B. ¢, Il Bl ufeg Il. s1Re @ IR oRar=IEnior
C. rscufer, sieRr g Il sre=rg1, Irsl i ufyeg
D. Sca IRICRI & IR o=ARIERor IV. sira @ rscufer

oifa feu aru faasedl 9 A A8 3R gforu :
[Question ID = 5234][Question Description = S2_qSNz_PG_HRD_Q69]

A-1V,B-1l,C-lll, D - I [Option ID = 20933]
A-1V,B-1ll, C-1,D - Il [Option ID = 20934]
A-1V,B-1ll, C-1I, D - I [Option ID = 20935]
A-11,B-1ll,C-1,D- IV [Option ID = 20936]

A w N =

Correct Answer :-
e A-IV,B-1l,C-Ill,D-1I[Option ID =20933]

70) Match List | with List Il

List | List Il
Acts Year

A. Juvenile Justice (Care and Protection of Children) Actl. 1993
B. Protection of Human Rights Act 1. 2006
C. Protection of Civil Rights Act 11l. 2000
D. Prohibition of Child Marriage Act IV. 1955

Choose the correct answer from the options given below:

et -1 Bt 3l -1l A AR Hifre

et -1 et -1l
(arferforeran) (adf)

A. fop9ie oI (arcrepl bt ST ud AzervT sif2iforian) 1. 1993

B. Jirera siferp1= Fzervr siferforrar 11. 2006
C. fafaa siferor dzgor siffrforrer 1ll. 2000
D. aret faang gferder sif2rformen IV. 1955

ofla fou o1 frseul 3 ¥ A8 IR gforw ©
[Question ID = 5235][Question Description = S2_qSNz_PG_HRD_Q70]

A-1,B-1l, C-1V, D - lll [Option ID = 20937]
A-1ll,B-1,C-1V, D - Il [Option ID = 20938]
A-1IV,B-1I,C-1,D - lll [Option ID = 20939]
A-1,B-1,C-1ll, D - IV [Option ID = 20940]

A W N -

Correct Answer :-
e A-1,B-1l,C-1V,D- Il [Option ID = 20937]

71) Match List | with List I

List | List Il
Organisations Headquarters
A. Amnesty International I. New York
B. United Nations Environment Programme Il. Geneva

C. United Nations High Commissioners Refugees Ill. Nairobi

D. United Nation International Children's Emergency Fund|lV. London

Choose the correct answer from the options given below:

It -1 B 3 -1l A gk B
et -1 el -1

(3io1001) (HAZTRITCRI)

b




A. BTl Sezar9reTeT |. =i
B. IYep e WAV DRIGH Il. frorar
C. oRuni2iRIl @ fere AP AT, DI ITRGD Ill. Rt
D. JRH U ARSI &It - MUTd DI IV. cigor

off fou s1e frpeul 3 3 A I gforw ©
[Question ID = 5236][Question Description = S2_qSNz_PG_HRD_Q71]

A-1V,B-1lIl, C-1l, D - | [Option ID = 20941]
A-1V,B-1ll, C-1,D - Il [Option ID = 20942]
A-1,B-1l,C-1V, D - Il [Option ID = 20943]
A-11,B-1,C-1ll, D - IV [Option ID = 20944]

AW N -

Correct Answer :-
e A-IV,B-1ll,C-Il,D-1I[Option ID = 20941]

72) Match List | with List Il

List | List Il
Human Rights of Indian Constitution| Articles
A. Right to life I. Article 23
B. Right to Constitutional Remedies |Il. Article 25
C. Freedom from Forced Labour [lll. Article 21
D. Freedom of Religion IV. Article 32

Choose the correct answer from the options given below:

it -l oot 3Eh -1l A Fgafera HifSie :

oxeht - | et -1
(s1rxcfi=r ifreret AoTaIermIz) (31oc8%)

A. Siiger 1 SiffrpR |. srose 23
B. idenfores Suarl o1 siferprR Il. sopesde 25
C. scircop A JfRp @1 iR 1. srorese 21
D. erf &t Facicn IV. 3rgedc 32

oii<l fSu aru famedl 3 A A8 3R gforu :

[Question ID = 5237][Question Description = S2_qSNz_PG_HRD_Q72]
A-1V,B-1l,C-1,D-Ill [Option ID = 20945]
A-1,B-1V,C-1l,D-Ill [Option ID = 20946]

1.
2.
3. A-1lIl,B-1V,C-1,D- Il [Option ID = 20947]
4. A-1,B-1ll,C-1Il,D- IV [Option ID = 20948]

Correct Answer :-
e A-IV,B-1l,C-1,D-Ill [Option ID = 20945]

73) Match List | with List Il

List | List Il
Commission / Convention / Declaration Year

A. The International Convention on the Elimination of All Forms of Racial Discrimination|l. 1993
B. The Convention on Elimination of All Forms of Discrimination Against Women Il. 1946
C. Commission as the States of Women 1. 1979
D. The Vienna Declaration and Programme of Action IV. 1969

Choose the correct answer from the options given below:

et -1 Bt 3l -1l A AR Hifre

oxet -1 ot -l
(3IRIIST / SIfRTERI / #Hv) (i)

A. 32 YR D orxcil figara & forrel Addel siaRrcd ifd Rt 1.1993
B. sfdcmsii & farg 82 YR & ficsra & foruol Jdeh sifdriern 11.1946
C. Ffaetisii &bt com el rrRieT 111.1979
D. faroon divon ud foprn eRiagr 1V.1969

oifa feu aru faasedl 3 A 8 3R gforu :
[Question ID = 5238][Question Description = S2_qSNz_PG_HRD_Q73]

A-1IV,B-1ll, C-1l, D - [Option ID = 20949]
A-1V,B-1,C-1ll,D - Il [Option ID = 20950]
A-1,B-1ll,C-1,D - IV [Option ID = 20951]
A-1,B-1l, C-1V, D - lll [Option ID = 20952]

A w N =

Correct Answer :-



e A-IV,B-1ll,C-1l,D-1[Option ID = 20949]

74) Match List | with List Il

List |

List Il

Perspectives

Theorists

A. Liberal Perspective

I. Narayan Guru

B. Dalit Perspective

Il. David Thoreau

C. Gandhian Perspective

lll. Thomas Paine

D. Marxian Perspective

IV. Antonio Gramsci

Choose the correct answer from the options given below:

It -1 ot gt -1l 2 gifera difre ¢

Rpet -1 Rreh -1l

(af¥ge) (Rigiaor)

A. Serarél ulgga |. SIRRIVT 35

B. sfera ufygga Il. 3fs elis

C. asriefiarét uf¥gga lll. i1 Oat

D. sraziardt ufygga IV. Geiforn spaoft

ofla 3w o1 el 3 A A I gfom :
[Question ID = 5239][Question Description = S2_qSNz_PG_HRD_Q74]

A-1,B-1l,C-1ll, D - IV [Option ID = 20953]
A-1V,B-1lIl, C-1l, D - | [Option ID = 20954]
A-1ll,B-1,C-1I,D- IV [Option ID = 20955]
A-1ll,B-11,C-1,D- IV [Option ID = 20956]

AW N =

Correct Answer :-
e A-I,B-1l,C-Ill,D-IV[Option ID = 20953]

75) Match List | with List Il

List | List Il
Institutions Nature / Level
A. ILO I. State level

B. High Court Il. National level
C. Supreme Court|lll. Regional level
D. SAARC IV. International level
Choose the correct answer from the options given below:

gl -1 @1 g -1l A Fgaifera Hifste ¢

Tt -1 Rt -1

(3>emd) (FR)

A. 3mm$. wel. 3. |. I ¥R

B. 3ca sarIer Il. IrsClRr 3R

C. STaadl IR lll. geidres

D. s IV. siqRerselr =

il f3u o1e fyscul 3 A At IR gfom :
[Question ID = 5240][Question Description = S2_qSNz_PG_HRD_Q75]

A-1,B-1I,C-1ll, D - IV [Option ID = 20957]
A-1V,B-1,C-1l,D - Il [Option ID = 20958]
A-11,B-1ll, C- 1V, D - | [Option ID = 20959]
A-1ll,B -1V, C- I, D - | [Option ID = 20960]

A w N =

Correct Answer :-
e A-I,B-1l,C-IlIl,D-IV[Option ID = 20957]

76) Arrange the following books written by Karl Marx in the right chronological order :
A. Communist Manifesto

B. Civil War in France

C. A Contribution to the Critique of Political Economy

D. Eighteenth Brumaire of Louis Bonaparte

Choose the correct answer from the options given below :



oIt A= orI fiiRaa feeifeiRaa grae! ol 138l orgpd d w=af¥ea difse :
A. sRIforee dAforder

B. Riferet ar o wivt

C. 31 =g ¢ g fpfew sife uiferélae sololisd

D. udicer gk sif g diemurd

ofi 3w s1u faseal & A A8 IR BT wRI6T BT :

[Question ID = 5241][Question Description = S2_qSNz_PG_HRD_Q76]

A, B, C, D [Option ID = 20961]
D, A, C, B [Option ID = 20962]
A, D, C, B [Option ID = 20963]
C, D, B, A [Option ID = 20964]

’

)

A W N -

» Uy

Correct Answer :-
e A B, C, D[Option ID = 20961]

77) Arrange the following Human Rights Conventions in the chronological order of their enforcement:
A. Convention on the Elimination of all Forms of Discrimination Against Women

B. Convention on Rights of the Child

C. Convention Against Torture and Other Cruel Inhuman or Degrading Treatment and Punishment.

D. Convention on the Prevention and Punishment of the Crimes of Genocide

E. Convention on the Protection of the Rights of Migrant Workers and Members of their Family

Choose the correct answer from the options given below :

forgotferRaa AcTaIf2reR SRR a5t IJoTd Yaddel 3 3116t & 3IIEIR UR BICIGAIGRIR RIaf¥erd i :
A. afgctsii @& yfer 11 yor @ AeHrd @ lediclol Hdell I

B. arcrent o siferpre Jdeht sifdrmerr

C. Ardoll 317 31631 W, IIHATGIARI AT UHIGISIoID RIG8R 3iI? gUs @ fawg IR

D. sufer JsrR & srurer forarur iR gus Hdeh ifSrRIar

E. yarfl 9ifdre 3z Jord> ufdsell & ifiror Aded sifdrmer

oiil f¢u are famedl 3 A A8 IR DI TRIel DI :

[Question ID = 5242][Question Description = S2_qSNz_PG_HRD_Q77]

, B, C [Option ID = 20965]
, C, E [Option ID = 20966]
A, C [Option ID = 20967]
B, E [Option ID = 20968]

1 E
2. D,A, B
3. E,B,D,
4. D, A C

)

Correct Answer :-
e D, A E, B, C[Option ID = 20965]

78) Arrange the following laws in chronological order of their enactment :

A. Bonded Labour (Prohibition) Act

B. Scheduled Caste and Scheduled Tribes (Prevention of Atrocities) Act

C. Protection of Civil Rights Act

D. Sexual Harrasment of Women at Workplace (Prevention, Prohibition and Redressal) Act
E. Rights of Persons with Disablities Act

Choose the correct answer from the options given below :

forsaiferRaa faf2ril ot Sordd sif2iforIaret & MR UR BITHATGRIR RIaf¥erd Bhifse
A. dféra o (gferen) srf2rforiar

B. sroRifRre suferIl 3R 3o SieslicRI (IIRIR forarvr) sifeforier

C. fiaferer siifroRI o1 Jgrr sifeiformar (forarvur gferder siie gferdiy) sifrfores

D. orizere uz afdcnsii @ e Iediso

E. for:orep cafepeil @ siferor siferforme



oiia fu s1u farapeul 3 A 2t IR DI R Diferu :
[Question ID = 5243][Question Description = S2_qSNz_PG_HRD_Q78]

E, D [Option ID = 20969]
D, E [Option ID = 20970]
, D, B [Option ID = 20971]
D, E [Option ID = 20972]

Correct Answer :-
e C, A B, E, D[Option ID = 20969]

79) Arrange the following in order as mentioned in the Preamble of the Indian Constitution :
A. Democratic

B. Socialistic

C. Sovereign

D. Republic

Choose the correct answer from the options given below :

Al 2ifdenet &1 sEfdrmr 3 geiiftalRaa HPrefiiRaa uct B a1 gu i caalRea Hifsre
A. cipaqifges

B. sremstardt

C. gy

D. s

il fou o1 fraseul 3 3 I IR BT TI6T HIfSIE :

[Question ID = 5244][Question Description = S2_qSNz_PG_HRD_Q79]

D, A, B, C [Option ID = 20973]
C, B, A, D [Option ID = 20974]
B, D, A, C [Option ID = 20975]
A, B, C, D [Option ID = 20976]

A W N -

y» Dy

Correct Answer :-
e D, A, B, C [Option ID = 20973]

80) Arrange the following ideologies in order of their emergence in chronological order :
A. Classical Liberalism

B. Neo-Liberalism

C. Fascism

D. Marxism

Choose the correct answer from the options given below :

forgatifepa fraren=isii ot o1 Yrgyia & 3MeR U= dlcigd 3 crai¥ed Gl :
A. geRrbl Igrac

B. ora - 3cRarc

C. wrilac

D. srriar .

ofid o s1u fweal & A A8 IR BT WRI6l BT :

[Question ID = 5245][Question Description = S2_qSNz_PG_HRD_Q80]

1. A, B, C, D [Option ID = 20977]
2. C, D, A, B [Option ID = 20978]
3. A, B, D, C [Option ID = 20979]
4. A, D, C, B [Option ID = 20980]

Correct Answer :-
e A B, C, D[Option ID = 20977]

81) Arrange the following Declarations in chronological order:
A. Declaration on the Right to Development

B. Declaration on the Rights of Indigenous Peoples



C. Durban Declaration and Programme of Action
D. Vienna Declaration on Human Rights
E. Declaration on Human Rights Defenders

Choose the correct answer from the options given below :

forraiferRaa araunsii ®F BreagAHGRIR wraf¥erd Hifse :

A. 1 @ sif2rerR Addel dron

B. >adoft ciisll & siferpre Hdeft digon

C. sdar gron 3ii PRarE @ BrRiaH

D. srcraiffrer 3 aR 3 fRrron digvn

E. HAcIaiffroR @1 sa doldrcl o Ader d aon

il fou o1 fraseul 3 3 I IR BT TIoTl HISIE

[Question ID = 5246][Question Description = S2_qSNz_PG_HRD_Q81]

D, E [Option ID = 20981]
A, E [Option ID = 20982]
, C, B [Option ID = 20983]
A, B [Option ID = 20984]

A W N -

Correct Answer :-
e A B, C, D, E[Option ID = 20981]

82) Arrange the following political thinkers in chronological order :
A. James Bryce

B. Immanuel Kant

C. Niccolo Machiavelli

D. Edmund Burke

E. Thomas Hobbes

Choose the correct answer from the options given below :

forgaifeiRaa rswoliferes Riae! @1 wragdeRe cra¥ed Hifsu :

A. S g5

B. sdlogue de

C. forolell Aifeparactt

D. usavs ga5

E. eifort dfcat

ofid 3w o1 fwseal # A A8 IR BT <RI BT :

[Question ID = 5247][Question Description = S2_qSNz_PG_HRD_Q82]

1. G, E, B, D, A [Option ID = 20985]
2. D, C, B, A, E [Option ID = 20986]
3. A, B, C, D, E [Option ID = 20987]
4. E, D, C, B, A [Option ID = 20988]

Correct Answer :-
e C,E, B, D, A[Option ID = 20985]

83) Arrange the following in chronological order :

A. Mahatma Gandhi National Rural Employment Guarantee Act

B. Prevention of Corruption Act

C. National Security Act

D. Scheduled Castes and Scheduled Tribes (Prevention of Atrocities) Act

Choose the correct answer from the options given below :

forgaiferRaa @1 GenaaeRIR crafi¥yed Hifse :
A. ssrcameTiel IR SRt AR SIRE sif2iformer



B. syscrar forarvr siffformer

C. s geem sifeiforra

D. seREa snferIi 3iiR siofIfRIA StofsierIl (SRR forarvr) sif2rforra

ofi o s1u fwedl & A A8 IR BT wRI6l HIfvIT :

[Question ID = 5248][Question Description = S2_qSNz_PG_HRD_Q83]

. A, C, D, B [Option ID = 20989]
B, D, A [Option ID = 20990]
A, D, C [Option ID = 20991]
D, B, A [Option ID = 20992]

C:
By
G

1
2
3.
4

Correct Answer :-
e A, C, D, B[Option ID = 20989]

84) Arrange the following UN Conventions in chronological order of their adoption by the United Nations:
A. Convention Against All Forms of Racial Discrimination

B. Convention on the Elimination of All Forms of Discrimination Against Women

C. Convention on the Prevention and Punishment of the Crime of Genocide

D. Convention on the Rights of the Child

E. Convention the Rights of Person with Disabilities

Choose the correct answer from the options given below :

forgsiferRaa YD IUsg SIMHRIIRIT DI IYTD AT A HRI Iod 3idflayd / Fdliad e Sirel @ MIER U BIIRATRIR cal¥ed HIfse
A. 3191l YR D olcil Ao D fasg sifinTr

B. sfdemsii @ yfer il yor @ Nourd Iedciel Adel iRt

C. SnftRisr @ srurter forarvr iz cusHdsdt iSRRI

D. aret siferprR sifSRier

E. for:orp caftp SiferpR sifirTert

ofid f3u s1v fawcdl & A A6 3= gforw :

[Question ID = 5249][Question Description = S2_qSNz_PG_HRD_Q84]

1. D, B, C, A, E [Option ID = 20993]
2. C, A, B, D, E [Option ID = 20994]
3. E, C, D, B, A [Option ID = 20995]
4. B, E, C, D, A [Option ID = 20996]

Correct Answer :-
e D, B, C, A, E[Option ID = 20993]

85) Arrange the following Human Rights in the chronological order of their emergence :
A. Rights to clean environment

B. Right to life

C. Right to development

D. Right to education

Choose the correct answer from the options given below :

forgotifcnea ATGIAIRRIMDIR I IoId> 36U A DICIRATTAR cafderd bIfSrg :

A. Yoo gaiarul @I fPrR

B. Sfiget @ siferer

C. Rt @1 siferer

D. forgn o1 siferpR

il f3u a1 fyaseul 9 A W& 3= goi ¢

[Question ID = 5250][Question Description = S2_qSNz_PG_HRD_Q85]

)

A w N =

A
B
D
C

’

)

’

B
D
B
D

, C, D [Option ID = 20997]

’

s

’

C
A
B

, A [Option ID = 20998]
, C [Option ID = 20999]
, A [Option ID = 21000]



Correct Answer :-
e A, B, C, D [Option ID = 20997]

86) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: In 2018, Supreme Court has decriminalised homosexuality under section 377 of the Indian Penal code.
Reason R: Homosexuality has the nature of prostitution under the Indian Penal Code.

In light of the above statements, choose the correct answer from the options given below :

offd ot Pt fGu srw 3 : v 3ifdrpere (A) @ wu 3 foRaa 3 al g1 33 ®drRuT (R) D »u 3 @

sifirperet (A) : ad 2018 Scadad RIRIICRI of AACIBIDAI DI HICARI <3 Afdar &t ert 377 o siefiar srawrer &1 oyoft 3 ordt =
@RI (R) : surdia ¢s vfdar @ suefior JracifBraar b ymfa deangle e 3

SWRIRD Dol D 3MIelld d, ofld 16T 31w fpedl 3 A AR IUYTP IR DI TRIol I ©

[Question ID = 5251][Question Description = S2_qSNz_PG_HRD_Q86]

. Both A and R are true and R is the correct explanation of A/(A) 3iz (R) cleil 3=t & ik (R), (A) &t 38t =me=n 8 [Option ID = 21001]

. Both A and R are true but R is NOT the correct explanation of A/(A) 3l (R) glall &t & wag (R), (A) & 3t e oidt & [Option ID = 21002]
. Ais true but R is false/(A) a1 8 weog (R) srRi=x & [Option ID = 21003]

. Ais false but R is true/(A) srir @ wesg (R) = & [Option ID = 21004]

A W N -

Correct Answer :-
® Both A and R are true and R is the correct explanation of A/(A) siiz (R) gleil 2t 8 3ik (R), (A) &t 38 == 8 [Option ID = 21001]

87) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Over one hundred countries have abolished the death penalty in the world.
Reason R: The countries that ratify the second optional protocol to ICCPR have to abolish the death penalty.

In light of the above statements, choose the most appropriate answer from the options given below :

ofid A1 werot Ru e 3 ;. uop sifdrverct (A) & wu 3 fRiRaa 3 & gar1 3ud @Rl (R) & »u 3 :
sifdreperet (A) : fra & v 2T 3 sif2re oIl of PSS Bl I B2 = 3

BRI (R) : srEfiRidism & fxdin dofeud sRIaR @1 sigrelar woiarct Soil B FIGUs Bl AANT Bl &
SWRIFP Dol D 3Mrelld d, ofld 8w 31w frpedl 3 A AR IUuYTP IR DI TRIol HIPIT ©

[Question ID = 5252][Question Description = S2_qSNz_PG_HRD_Q87]

. Both A and R are correct and R is the correct explanation of A/(A) 3iz (R) el 31t 2 3ik (R), (A) &t 38 =me=n 2 [Option ID = 21005]

. Both A and R are correct but R is NOT the correct explanation of A/(A) siiz (R) gl 3@t & u3sq (R), (A) 6t 3 =me=n ot & [Option ID = 21006]
. Ais correct but R is not correct/(A) 3@t 8 uzsq (R) @ o8t & [Option ID = 21007]

. Ais not correct but R is correct/(A) 3@l o8l 8 usoq (R) 2@t 8 [Option ID = 21008]

A W N -

Correct Answer :-
e Both A and R are correct and R is the correct explanation of A/(A) siiz (R) cleil 3@l & 3z (R), (A) &t 3@ =mz=n & [Option ID = 21005]

88) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: National Human Rights Commissions does not have appellate jurisdiction.

Reason R: The Presiding Officer of the Human Rights Court is appointed on the recommendation of the committee, which
recommends the name of the Chairperson of NHRC.

In light of the above statements, choose the most appropriate answer from the options given below:

il €1 erol fu ow 31 uop sifdrperet (A) @ wu 3 feilRaa 3 al gt 33d oRrur (R) & wu @
sifdreret (A) : IACERT AGIAIRRIBIR 3MRIPT @ UTA 3rdiciikr siffrap1fyar oidt 3

@Rl (R) : val v 3R 2l @ 3reAst D omd DI RIwIf¥er ol arcl Afifer b JAfer D MUR U= AR IR @ UIoRile ifirarl bf
orRyfes &1 st 3

SWRID DUl D 3MIclid 3, ikl [$u are fdmedl 3 A AR IUYTD IR DI TRIel DI :
[Question ID = 5253][Question Description = S2_qSNz_PG_HRD_Q88]

1. Both A and R are correct and R is the correct explanation of A/(A) siiz (R) gleil 3%t 8 aiiz (R), (A) 6t 31t =me=n & [Option ID = 21009]

2. Both A and R are correct but R is NOT the correct explanation of A/(A) 3z (R) cleil & & w3oq (R), (A) &I ad =ren o1dt & [Option ID = 21010]
3. Aiis correct but R is not correct/(A) 3@ & weog (R) 2@ ordt & [Option ID = 21011]

4. A‘is not correct but R is correct/(A) 3@t aigt 8 weeg (R) 3t 2 [Option ID = 21012]

Correct Answer :-



e Both A and R are correct and R is the correct explanation of A/(A) siiz (R) cleil 3@l & 3z (R), (A) &t 3@ =mz=n & [Option ID = 21009]

89) Given below are two statements
Statement I: UDHR presents a formal and solemn binding statement listing general principles and broad obligations.

Statement II: A covenant on Human Rights principles serves as a promise between two or more countries that will enforce
provisions of the covenants with specific laws.

In light of the above statements, choose the most appropriate answer from the options given below :

il ol el fdu sre 3 ¢
Do - | ISivasr AeIeA Rigidl ud #ie - e gIRrdl @l IEiag ol darell U uaii¥a ud AcAaforss sl Yadd ddl &

Do - || : Frora PRI el ®IE YRifer oI A1 oI A 34 Sl D dia 1 adel ® U d P Dl & [ d [Afdrse PIgloll & GRI RAD
YIaeIGil Pl clv] D331

JURITP DYoll B 3D 3, ol [Gu 318 famcul 3 A AR IWRITD IR DI TRol DIfSIT :
[Question ID = 5254][Question Description = S2_qSNz_PG_HRD_Q89]

1. Both Statement | and Statement Il are correct/eper | 3z |l Sieif 2t & [Option ID = 21013]

2. Both Statement | and Statement Il are incorrect/emr | 3iz || Gi6il slet & [Option ID = 21014]

3. Statement | is correct but Statement Il is incorrect/@ermer | 3& & , g et |l s & [Option ID = 21015]
4. Statement | is incorrect but Statement Il is correct/aerw | s @ , fpoq @t |l 2@ 8 [Option ID = 21016]

Correct Answer :-
e Both Statement | and Statement Il are correct/werer | 3iiz 11 loil 21 & [Option ID = 21013]

90) Given below are two statements
Statement I: A key distinction between covenant, convention or treaty and a declaration is not that of obligation.

Statement Il: Declarations commonly address Human Rights issues and allow countries the opportunity to gather and discuss
current areas of concern.

In light of the above statements, choose the most appropriate answer from the options given below

ofi <1 perer Ru sre 3 :
@eret - | yzifaer, sifdrmern ar #Hfér siiz diuvn & da oo g iR areadist oSl 3

@Yol - || : "9 3 AR UR Hlold MMAU®R @ HEI DI folarRur Bldr 8 3Tk S9II I 3 dId I AR ¢dl 3 b d IRIDRI B Iy §icll DI T DI
3R 3ot Uz Tat o3

SWRAD Bl D el 3, il fGu sre frvedl 3 A AR IWRITD IR DI WRIol DHIfSIT :
[Question ID = 5255][Question Description = S2_qSNz_PG_HRD_Q90]

Both Statement | and Statement Il are correct/@em | 3iiz |l gleif 3t & [Option ID = 21017]

Both Statement | and Statement Il are incorrect/@erwer | iR 1l Giali sieta & [Option ID = 21018]

Statement | is correct but Statement Il is incorrect/emwr | 31t 8, fpoq weret |l siela & [Option ID = 21019]
Statement | is incorrect but Statement Il is correct/@emwt | s/ & , fpoq e |l 2@t 8 [Option ID = 21020]

A w N =

Correct Answer :-
e Both Statement | and Statement Il are correct/@emt | 3iiz | gleif 28t & [Option ID = 21017]

Topic:- HumanRD_B

1) Read the passage carefully and answer the questions that follow:

Anti-imperialism as an aspect of Indian foreign policy developed out of India's own experience of British imperialism. The
revival of memories of the greatest of ancient India, coupled with the study of British and French political thought during
the Indian Renaissance of the second half of the 19th century, created a powerful resentment among the educated sections
of Indians against British rule in India and the conversion of the Indian economy into a mere appendage of the British
economy. The founding of the Indian National Congress was itself a manifestation of this anti-imperialist feeling among the
Indian intelligentsia. Anti-imperialism gradually percolated down to the Indian masses in the course of the Indian freedom
movement, especially through such mass struggles as the Swadeshi Movement, the Non-cooperation Movement, the Civil
Disobedience Movement and the Quit India Movement.

forgaiferlRaa srerior ol earegde ufsu sz U 1o yesil 3w difSe ©

HRCARI fagor ofifer @ ugt & wu I ARgSAac fRIE i as usey 3 SrRI® famrT dra @ [Jfer AEfsIac @ forsll seprdl @ BeRraeu g3l
Jooflerdl orarsst @ fgefi=r s1ef uet 3 aRdRI Yorstisreur @ erI ffeor vd BT @ Aswifrd ARl @ srerrel vd Yrefiel siRd &I dAselar &



Yolsseilad 3k R sreferazen ol f[Jfeor sreferaven & Sits o 3 ulkaffa o2 3ot & werasu sl RIifda aef 3 sra 3 o1 Isa D
foreg gza= frier @i fomrivr g3m  siddi gigsiifcril & s AnRsaac Rl R & YaEédmoT @ BRUT & HIRARI ASERT Bis)A DI Femdelr bl
B3

SIIRCARI Il 3TicIclol D @yl 3 A9 U A STol e SR b 3MecIcrel, RIS 3HigIclol, AfIGRI AS 3MiGiciol 3ii? MR BISI 3MiGIclel d
R A ARG RRIel emmon ¢l - ¢} srdRI SloREIGRI i gaida 8l o

When and how did anti-imperialist feelings spread to the Indian masses?

HRARI SIoR1E I ARIIAG RRIel emron @ 3k B Bedl ?

[Question ID = 5256][Question Description = S2_qSNz_PG_HRD_Q91]

During Quit India Movement/ sz 8IS stigiciol @ WrI [Option ID = 21021]

During Indian Freedom Movement/siea & Jarfiorar siicicter @ wwI [Option ID = 21022]

As the educated class joined the movement/ug fér=d asf @1 sticieret 41 a1re1 clonr [Option ID = 21023]
When women organised themselves /s Ragil of 3azi @t Jwifa fdsen [Option ID = 21024]

A W N -

Correct Answer :-
e During Quit India Movement/s1=a 8ISl siicleiol @ @RI [Option ID = 21021]

2) Read the passage carefully and answer the questions that follow:

Anti-imperialism as an aspect of Indian foreign policy developed out of India's own experience of British imperialism. The
revival of memories of the greatest of ancient India, coupled with the study of British and French political thought during
the Indian Renaissance of the second half of the 19th century, created a powerful resentment among the educated sections
of Indians against British rule in India and the conversion of the Indian economy into a mere appendage of the British
economy. The founding of the Indian National Congress was itself a manifestation of this anti-imperialist feeling among the
Indian intelligentsia. Anti-imperialism gradually percolated down to the Indian masses in the course of the Indian freedom
movement, especially through such mass struggles as the Swadeshi Movement, the Non-cooperation Movement, the Civil
Disobedience Movement and the Quit India Movement.

forgatferlRaa srerior ol earergde ufsu sz U 1o yesil 3w difSe ©

AR fagor siifer @ ugt @ wu I ARsAac RRI ofifer as usey 3 RBrRIw! @R sra @ [Yfeer AEpsTa @ ool sioprdl @ Berrasu g311
Jooflerdl orarsst @ fefi=r s1ef uet 3 aRdRI YorsiisrRur @ erI ffeor vd BT @ Aswifre ARl @ 3rerre vd Yrefiel siRd &I dAsielar &
gorseilaa 3R HRedl sreforazen @ ffeor srefeaazen & Siis s 3 uf¥afeia o2 $a & werasu uRdr O1fda oot 3 wra 3 [JRer s &
forg gz frier @ fouivr g3n  siRedi gigsiifcaril &l s AnRsaac [RIEh &RvI & YdElmuT @ BRUT 8l HRARI ASERI Piv)RI DI FelT df
o

IRCART FAAJAT 3MicIcTol B ayt 3 fA9 U I Srol e ST i 3MecIcrel, 3RIGAIST 3Micictol, AMIGRI AT MiGIciol 37 A BISI 3MiGIclol d
e 3 FAGIAG foRIeh emor ¢ - i sidRI SlorTcRT 3 yaifa 3t o1

Which one of the following was not a mass movement?

Soldl A DlolAT UD il - 3liciclol o1al o ?

[Question ID = 5257][Question Description = S2_qSNz_PG_HRD_Q92]
1. Quit India Movement/#mRa ISt stigietor [Option ID = 21027]

2. Economic Disobedience Movement/anféfe srasi srigictet [Option ID = 21028]

3. Non-Cooperation Movement/sris:1r1 sticietel [Option ID = 21025]

4. Civil Disobedient Movement/ifderr sra=t stictetet [Option ID = 21026]

Correct Answer :-
e Non-Cooperation Movement/srigeiir sicieter [Option ID = 21025]

3) Read the passage carefully and answer the questions that follow:

Anti-imperialism as an aspect of Indian foreign policy developed out of India's own experience of British imperialism. The
revival of memories of the greatest of ancient India, coupled with the study of British and French political thought during
the Indian Renaissance of the second half of the 19th century, created a powerful resentment among the educated sections
of Indians against British rule in India and the conversion of the Indian economy into a mere appendage of the British
economy. The founding of the Indian National Congress was itself a manifestation of this anti-imperialist feeling among the
Indian intelligentsia. Anti-imperialism gradually percolated down to the Indian masses in the course of the Indian freedom
movement, especially through such mass struggles as the Swadeshi Movement, the Non-cooperation Movement, the Civil
Disobedience Movement and the Quit India Movement.

forgatferi¥aa srenor ol earogde ufée sii fou 31w gl 3o S ©



HRRI fagor oiifer @ ugt @ wu I ARIac RRI ofifel a8 usey 3 RBrRI®! @RI dRrdA & f[Yfeor AEpsIaE @ ol sfopidl @ Berraeu g311
Jooflerdl orarsst @ fgefi=r s1ef uet 3 aRdRI YorstisrRur @ erI ffeor vd BT @ swifrd ARl @ 3errel vd Yrefiel siRd &I Asielar &
gorseilaa 3R HRdR sreforazen @ ffeor siefeaazen & Siis a3 ul¥afeia o2 $a & werrasu uRdr O1fdra aof 3 wra 3 [JRer Isa &
forrg gz fRier @ fortivr g3n  siRedi gigsiifcaril & 331 AnRsaac [RIEh &RUI & YaElmuT B BRUT &l HRARI ASERI Piv)RT DI Feell DI
o

IRCART FAAJAT 3MicIcTol B ayt 3 fA9T U I Srol e ST i 3MecIcrel, 3RIGAIST 3Miciciol, AMIGRI AT MiGIciol 37 $IRd BISI 3MiGIclol d
e 3 FAAGIAG FoRIeh emorr ¢ - i sidRI SlormcRT 3 gaifa 3t o1

How were the anti-imperialist ideas expressed in an organised manner?

AR fRIER ARl ol JoaalRea wu # e avs A siférer oo srn 3 ?

[Question ID = 5258][Question Description = S2_qSNz_PG_HRD_Q93]

Through public appeals for government support/3R®Rt Je=ier 3 Ardsiferd Yoridcor [Option ID = 21029]
By using radio channels/3f=n dferent @ geiter 31 [Option ID = 21030]

By founding the Indian National Congress/sielr iz afsfad fomifur grr [Option ID = 21031]
Through signature campaigns by the youth/garasf @& grr adier siférmet grr [Option ID = 21032]

A W N -

Correct Answer :-
e Through public appeals for government support/3R®Rt et 3 Ardsiiors Yoriga [Option ID = 21029]

4) Read the passage carefully and answer the questions that follow:

Anti-imperialism as an aspect of Indian foreign policy developed out of India's own experience of British imperialism. The
revival of memories of the greatest of ancient India, coupled with the study of British and French political thought during
the Indian Renaissance of the second half of the 19th century, created a powerful resentment among the educated sections
of Indians against British rule in India and the conversion of the Indian economy into a mere appendage of the British
economy. The founding of the Indian National Congress was itself a manifestation of this anti-imperialist feeling among the
Indian intelligentsia. Anti-imperialism gradually percolated down to the Indian masses in the course of the Indian freedom
movement, especially through such mass struggles as the Swadeshi Movement, the Non-cooperation Movement, the Civil
Disobedience Movement and the Quit India Movement.

foreatferi¥aa srenor ol earogde ufée sii fou 31w gl 3w S ©

HIRCARI faGor ofifer @ ugl & wu I AEPsAars RIEN siifel a8 uscl & SRI®I famrRT HRA & {ieer AEfsaas o forsil srepsdl @ BeRraeU g3l
Joolladl 9rarsst @ fgefi=r aref uet 3 HRdRI YolstiorRur @ RI f§feor ud Bia @ Asioifcrd Rl @ 3r¢RIel wd greiiel $iRd bl Asleldr &
Yolsssilad 3R MRl sreferazen ol f§feor sieferaven @ Sits o 3 ulkaftia a2 3ot & werasu sRdl=r Rifda et 3 sira 3 [§feor s &
e grar forier o1 foratior g3n  siRediar gigshiferil &1 331 AnpsTac RRiel emrun & gadiaul & BRI & HRdRI ASERT Biv)RT & Femde &t
o

HRCRI Facddl 3Miciclol @ B 3 fA9Y U A Stol Had i [ 3MecIciol, 3RIGRIINI 3icIciol, AfdGRI 1A 3Micicrol 3R HRA BISI 3MicIclol &
e 3 FAARIArG foRIeh emor i - iy sidiRr SorTcR 3 yaifda a1 o

Which one of the following was not an impact of the Indian Renaissance in the 19t century?

sotdl A a=r 19 . 9rarsdt @ HReRI YolsIvRUI yuIfdd ofél ot ?

[Question ID = 5259][Question Description = S2_qSNz_PG_HRD_Q9%4]

It evolved a class of educated pro-British Indians/sor f§feor sioyapet smciiil @ forféra aof @t somren [Option ID = 21033]

It created resentment among the educated Indians/fiféra smediil @ a1 fRigis @1 Seat &= [Option ID = 21034]

The memories of the greatness of ancient Indian were revived/yrder sz &bt saterar bt Faferii @t smex fsem [Option ID = 21035]

It was against the conversion of the Indian economy into a mere appendage of British economy/s siciler sreforrazen @t fgfeor sieferazen o1 Siis g dofrot
@ faRrer 3t e [Option ID = 21036]

A w N =

Correct Answer :-
e |t evolved a class of educated pro-British Indians/sel fgfeor srejaet ekl & 9181 asf @I gorn [Option ID = 21033]

5) Read the passage carefully and answer the questions that follow:

Anti-imperialism as an aspect of Indian foreign policy developed out of India's own experience of British imperialism. The
revival of memories of the greatest of ancient India, coupled with the study of British and French political thought during
the Indian Renaissance of the second half of the 19th century, created a powerful resentment among the educated sections
of Indians against British rule in India and the conversion of the Indian economy into a mere appendage of the British
economy. The founding of the Indian National Congress was itself a manifestation of this anti-imperialist feeling among the
Indian intelligentsia. Anti-imperialism gradually percolated down to the Indian masses in the course of the Indian freedom
movement, especially through such mass struggles as the Swadeshi Movement, the Non-cooperation Movement, the Civil
Disobedience Movement and the Quit India Movement.



forsaiferRaa srerior ol earogde ufgu 3iiz féu s1e gesil 3az difsme ¢

HIRCARI fagor ofifer @ ugt @ wu I AEgsAars RIE siifdl gz uscy & SRI®I famrRT HRA & {§ieer AEpsaas o forsil sopdl @ Beraeu g3l
Joolladl 9rarsdt @ fgefi=r a1ef ugt 3 ARdRI YolsiiorRur @ rI fgfeor ud wia @ Asioifcrd Rl @ 3r¢rIel ud greiiel $iRd bl Asleldr &
Yorsssilad 3R R sreferazen ol f§feor sieferaven @ Sits o 3 ulaftia a2 ot & werasu sRdlr Rifda et 3 sra 3 [§feor s &
s grar forier 1 foratior g3 siRedir giigshiferil &1 331 AnpsTac RRiel emrun & gadaul & BRI 8 HIRdRI ASERT Bis)RT & Temde &t
aré

HIRCRI Il 3Micictol @ B 3 {9y U A Stol Had i b 3Meciciol, 3RIGRIINI 3iiciciol, AfdoRI A 3Micicrol 3R HRA BISI 3MicIclol &
e A FAARIAG foRIeh emor ¢ - i sidlr SorTgcr 3 yaifaa a1 o

Which one of the following aspects of India's foreign policy developed out of anti-imperialism?

soldl A HR(RI fargor ofifer @1 el A1 Usey ARYSRIAG Rl ofifer @ wrur fawlia g, Rifsea HifSe -
[Question ID = 5260][Question Description = S2_qSNz_PG_HRD_Q95]

Its relations with South Africa/gfarur siftgept & 2mer ider [Option ID = 21037]

Its experience with the British imperialism/f§feor 3mysemare @ siepera [Option ID = 21038]

Due to the influence of its neighbouring countries/uskil Soif @ ysrra @ ®rur [Option ID = 21039]
Due to the spread of communism/3ImRidig @ fdzar @ ®rur [Option ID = 21040]

A W N -

Correct Answer :-
e |ts relations with South Africa/sféror siftyar @ Jrer ser [Option ID = 21037]

Topic:- HumanRD_C

1) Read the passage carefully and answer the questions that follow

The fear that new technology if abused or misused may lead to irreparable loss and destruction of mankind leaves us with
the crucial question as to why human cloning should be allowed at all? The unbridled and unchecked power of science can
lead to the creation of multiple Hitlers and Mussolinis, genetic discrimination, genetic blackmailing and threaten our privacy
and security. Since we now have the technology which has the ability to alter life on earth and threaten the very survival
we have to decide about the kind of world we want to live in. Let's make no mistake that gene technology has the power to
not only cure us but also, if not properly regulated to even destroy us. What kind of future do we want for ourselves and for
our future generation? The policymakers, the scientists, the heads of governments and the lay public should collectively
discuss the ways to regulate cloning techniques since the issues of reproduction and the moral status of embryos impact the
very meaning of 'life’ for humans. Thus, we urgently need a comprehensive global agreement for the regulation of human
cloning issues. Hence, an urgent UN-sponsored international summit on biotechnology followed by an international
agreement is called for, so that mankind controls and regulates gene technology before it starts playing havoc with human
nature and human life.

forgotferRaa srerior @l earergde® ufew iz 3w s1e yssil 3ar difvme :

I 32 fop Al o1 GienfB3rehl I gHURIIST AT STeid $IJAICT 3IdI & dl 3D BeRa»U HAlold Sifel bt srgeuffa sifer 3iiz feretror 8t Jmdar 3 31 P @1
SIGd <l 8 b Hrora aciifoisl i refdfer St &1 aril ST ? fdsirer &l foR@QI wd SRId A 9IfRP B BRUI 6idIeld fdeerk iR Filfcroll Uar 31 Amd
3, 3Mroldidre ScHTa Bl ADI 3, MgIdfdres scics Afeior 3l Abedl T 3R s yradeil iz IRen & foru WarI Ucr 3l Addr 3 34 AR urd VAt
Qienf3rhl digs 3 Rl gedl u sitaer ot et Jot 6l &l o1l afeds san 3if¥ara @ 8l TR 3 Sierol & gIErar & sAfee & As G-I Dol lem
331 fopa1 ae @ fea 3 ool arsd 3 &3 3 A1 DY oIl Yetoll AT 5 Shtet Gl & urRT &3 Sl w2t 6l & o1l afews, afe aggfara wu A
forIatel of 3, Y &3 oicc 2ol I oft graT 3 T el forw sl difeal @ fero fopar ave o1 sifarsa araa 3 ? ofifer forarfansil, dsuforapl, rscresit
3ii? 3114 SToldr @I acilfeidT dmoliml @ forIAcI D adiml U AFHRB® WU A Tal dil a1fde Gl Yslotel D Fel ud Yol @ oiferd Fa? A AqRI D
forY 'Sfiaer’ @1 A sef & yenfaa alar  3ra: 4 Aot aclifoisr @ foRIIGT 3 J3d Udb U dftad Jsild B i Ma9Adr 3 $A YoR
TAADAI 3 dId DI & fob Sia GieNBrbl U= IYeh A, GRI RIS U iaRISCRI fORaR A3Fdiciol IelRM ST 3R BRI a5 Ua siaRisg
Jatsiiar oft 31 RRRY 5 $3RY usd b Silor Gienf3rbt Frera sifer 3m! Horife iz forper ©2 o

The abuse and misuse of new technology may lead to:

o Qienf3rhl @ gHuRIeI ud sleld GRIISI 3 ORI 3l IADdl 3 ?

[Question ID = 5261][Question Description = S2_qSNz_PG_HRD_Q96]

Fast pace of development/-fa@rt &t diq aifer [Option ID = 21041]

Irrepairable loss and destruction of humankind/#mera sufer <6t srgufier gifer vd femer [Option ID = 21042]

Extension of more facilities/ifeifsp Jfremait @1 fare [Option ID = 21043]
High standards of ethics/diferar @ 3ea = [Option ID = 21044]

A w N =

Correct Answer :-



® Fast pace of development/-faprt &t diq sifer [Option ID = 21041]

2) Read the passage carefully and answer the questions that follow:

Anti-imperialism as an aspect of Indian foreign policy developed out of India's own experience of British imperialism. The
revival of memories of the greatest of ancient India, coupled with the study of British and French political thought during
the Indian Renaissance of the second half of the 19th century, created a powerful resentment among the educated sections
of Indians against British rule in India and the conversion of the Indian economy into a mere appendage of the British
economy. The founding of the Indian National Congress was itself a manifestation of this anti-imperialist feeling among the
Indian intelligentsia. Anti-imperialism gradually percolated down to the Indian masses in the course of the Indian freedom
movement, especially through such mass struggles as the Swadeshi Movement, the Non-cooperation Movement, the Civil
Disobedience Movement and the Quit India Movement.

forgotferRaa srerior @l eamergde® ufew iz 3w s1e yssil 3ar difcme :

I 32 fop Al o1 GienfBrehl BT gHURIIST AT STeid $IJAICT 3IdI & dl 3D BeRa»U HAlold Sifel bt srguffa sifer iz feretror 8t Jmdar 3 31 P @1
SIod <l 8 b Hrora arciifoisl i refdfer St &1 a=il ST ? fdsirer &l foR@YI wd SRId A 9P B BRUI 36idIeld fdeer iR Filfcroll Uar 31 Add
3, 3Mroldidre ScHTa Bl ADdI 3, MMgIdfdres scics Afeior 3l bl T 3R s yradeil ik Iren & foru War1 Ucr 3l Addr 3 34 AR urd Ut
Qienf3rhl diss 3 Rl gedl u sitaer ot et Jof 6l &l o1l afeds san sii¥ara @l 8l TR 3 Sierol & gIErar & sAfere &4 As aRI Dol et
331 fopa1 ae @ fea 3 ool arsd 3 T3 3 A1 DY oIl Yetol AT 5 Shter GNPl & urRt &3t i w21 6l & o1&l afews, afe aggfra wu A
forIa1el of 3, aY &3 oicc 2ol I oft gEraT 3 391 3Ual forw sl difeal @ fere b ave o1 sifarsa araa 8 ? ofifer forarfansil, dsuforapl, rscreett
3ii? 3114 SToldr @) acilfeidT dmoliml @ forIAcI D adlml U AFHRB® WU A Tal wil a1fde Gl Ysiotel D FeI ud Yol @ oiferd Fa? A AqRI D
forY 'Sfiaer’ @1 A sref & yenfaa dlar  3ra: 4 Aora aclifoior @ foRIIGT 3 J3d U oMU dftad Jsid B 3eid Ma9Adr 3 59 YoR
TAADAI 3 dId DI & fob Sia GieNBrbl U= IYeh U, GRI YRIISIA U iaRISCR fORaR AFdiciol gelRI ST 3R PRI a5 Ua siaRisg
Jatsiiar oft 31 RRRY 5 $3RY usd o Silor Gienf3rbt Frera sifer 3m! Horife iz forper ®2 o

Gene technology has the power :

Silel glenf3rchl 3 :

[Question ID = 5262][Question Description = S2_qSNz_PG_HRD_Q97]
1. To cure us/a 3l @20l &t a1fep & [Option ID = 21045]
2. To destroy us/sil oe @0l &t 9ifep & [Option ID = 21046]
3. To facilitate our growth/sarR @RI @l Jo2 deirel &t 91fes 3 [Option ID = 21047]
4. To cure and destroy us as well/adt Sie @20t 3ii? aiee B2l Slall ot 9ifep & [Option ID = 21048]

Correct Answer :-
® To cure us/ad Sl @2l &t aifep 8 [Option ID = 21045]

3) Read the passage carefully and answer the questions that follow

The fear that new technology if abused or misused may lead to irreparable loss and destruction of mankind leaves us with
the crucial question as to why human cloning should be allowed at all? The unbridled and unchecked power of science can
lead to the creation of multiple Hitlers and Mussolinis, genetic discrimination, genetic blackmailing and threaten our privacy
and security. Since we now have the technology which has the ability to alter life on earth and threaten the very survival
we have to decide about the kind of world we want to live in. Let's make no mistake that gene technology has the power to
not only cure us but also, if not properly regulated to even destroy us. What kind of future do we want for ourselves and for
our future generation? The policymakers, the scientists, the heads of governments and the lay public should collectively
discuss the ways to regulate cloning techniques since the issues of reproduction and the moral status of embryos impact the
very meaning of ‘life’ for humans. Thus, we urgently need a comprehensive global agreement for the regulation of human
cloning issues. Hence, an urgent UN-sponsored international summit on biotechnology followed by an international
agreement is called for, so that mankind controls and regulates gene technology before it starts playing havoc with human
nature and human life.

forgotferfiac srerior @ earogda ufeu iz 8w s1e yesil Iaz v :

s 32 o5 Al off GieNf3rhl I gHURIIGT AT ST SIAICT Bl 3 dl 3AD BeRrasU Aleld Sifer &t srgzoffer gifer siiz fetmor 8t rasdr 3 531 goat ot
Slodl Sl & b drela arctifsia1 bl aropafer &t & =il se ? farsirer & forzaper wd A1 Al 9Ifp @ DIRVT soldlold fBcer siiz galferofl Uar 8 Ada
3, 3Moldidre NeHId Bl APl 3, 3MdidrD scic Afeidr 3l Al 3 3R sART gradeil sk IRen d fo1e WarI Ucl 3l Addr 3 3M AR URT Ul
glenfereh disic 3 foremdl gedt ur Shtaer @I goct ot D 81 o1dt afew same sif¥Fara @ & T 3 Sicrol &I g1EIaT 3 AT 331 A6 TR DI BN o6
831 fopa1 o & fara 3 Jeon ared &3 $A A1 DI oIl Ycton aAifdu b Sfier Yienfdrhl & ura a3 St w2l &bt & ol afew, Afe Agfra wu A
forRIaTaT of 81, Al &3l orvc Dl bl off gIIAT & 391 3ol forw 3iir UifGRIl @ feru fepar e @1 sifdrs amaa & ? oiifer forarfansii, dsmforal, Jrecre=ngit
3iIR 3119 SToIeI @ aeilfoidl Amolldl @ forwEIel @ adlel R ARR® WU A Tal ol aifde b ysiotel & Hel vd 3ol D oifere ¥R A ARl D
o "Sfiaet’ @1 A& @ sref & Yanfa i 3 3 33t Hrora aciifoisl @ foRIACT 3 3 TP RAUD APAD AT Bl R AU 3 3 YDR
MAYADAI 3 a1 Bl 3 b Sia GienBrbl uR FYd U, SRI YRIIRIA v siaricd fOraR AFdiciol gern ST 3k BRI a6 o siaeisda
Aarsiiar sit 31 RRRA 5 3911 usa 15 Sfier ienf3rdht airera snfer 3w forifefe siiz formrer @2 o



What policy do we need to adopt so as to avoid the worst impacts of gene technology?

Silel Glenf3rhl @ forapreda ypirdl A Jaol 3q s fop1 ofifer @1 sraetren w@fde ?

[Question ID = 5263][Question Description = S2_qSNz_PG_HRD_Q98]
1. To discuss the future of technology/qienfdrhl @& sifdwer uz aaf w2 [Option ID = 21049]
2. To regulate cloning technology/achfsisr ddvoflasi @ formier awenm [Option ID = 21050]
3. To ban all scientific experiments/sft sufora geiisii @l yferdfera a2 ot [Option ID = 21051]
4. To close down all labs/sft yilsrenensii @l dc @2 ot [Option ID = 21052]

Correct Answer :-
® To discuss the future of technology/yienf3rht @ sifereer uz aaf wzem [Option ID = 21049]

4) Read the passage carefully and answer the questions that follow

The fear that new technology if abused or misused may lead to irreparable loss and destruction of mankind leaves us with
the crucial question as to why human cloning should be allowed at all? The unbridled and unchecked power of science can
lead to the creation of multiple Hitlers and Mussolinis, genetic discrimination, genetic blackmailing and threaten our privacy
and security. Since we now have the technology which has the ability to alter life on earth and threaten the very survival
we have to decide about the kind of world we want to live in. Let's make no mistake that gene technology has the power to
not only cure us but also, if not properly regulated to even destroy us. What kind of future do we want for ourselves and for
our future generation? The policymakers, the scientists, the heads of governments and the lay public should collectively
discuss the ways to regulate cloning techniques since the issues of reproduction and the moral status of embryos impact the
very meaning of ‘life’' for humans. Thus, we urgently need a comprehensive global agreement for the regulation of human
cloning issues. Hence, an urgent UN-sponsored international summit on biotechnology followed by an international
agreement is called for, so that mankind controls and regulates gene technology before it starts playing havoc with human
nature and human life.

forgotferfiac srerior @ earogda ufeu iz 3w s1w yesil Iaz difsme :

Iz 32 o5 Afe orf GieNf3rbl T gHURIGT AT ST SIAALCT B 3 dl 3AD BeRrasU Aleld Sifer bt srgzoffer gifer siiz fetmor 8t rasdr 8 531 goat ot
Slodl Sl 8 b dreta aretifsia1 bl arogafer €t & =il ste ? farsirer &l forzaper wd Q21w Al 9Ifp @ DRI sfoldlold f3cerR siiz galferofl Uar 8 AdaA
3, 3Moldidre NeHId Bl APl 3, 3MAfdrD scic Afeidl 3l Al 3 3R sART gradRil 3k e D fo1u WaRI Ucl 3l Addr 3 3M AR URT WAl
GienfBrebt disig 2 PRl gedt uz Sfiaer o aca 3ot B & odl afed saR fRaa o1 & T 3 s B grerar 3 sAfere 3t As a1 ol aen 6
&1 fopa1 o & fara 3 Jeon ared T 33 $A a1 DY o1l Yycton Aifdu 6 Sfier Yienfdrht & ura a3t St w2l bt & ol afew, Afe g wu A
forRIeTaT of 81, Al &3l orvc Dl bl off gIIAT & B9 31Ul forw 3iir UGl @ feru fbar e @1 sifdrsa amaa & ? oiifer forarfansii, dsmforal, rscre=ngit
3iIR 3119 SToII I acllfoidl dAmolldl @ forpEel @ adlel R ARR® WU A Tal ol aifde e Ysiote & Hel vd 3ol o sifere ¥R A ARl D
ferd "Sfidet’ @1 A8 @ sref & Yanfaa e 3 3rax: 33t Hrora acilfoisr B foRIACT 3 3 TP MU APAD AT Bl AR AR 3 3 YDR
MBI 3 a1 Dl 3 b Sia GienBrhl uR Y U, SRI YrRIIRIA tp siaricdR fOraR AFdiciol gern ST ik BRI a6 e siaeisda
Harsiiar sit 31 RRR 5 3911 usd 1 Sfier Gienf3rdht airera snfer 3! forifefa iz formrer w2 o

Identify the urgent need of humankind:

Hlotd Siifer &bt Asvayul simaeamar aur 8 ?

[Question ID = 5264][Question Description = S2_qSNz_PG_HRD_Q99]
Establishment of tribunals/yiférasuil &6t Zemuerr [Option ID = 21053]

Change the Public Policy/eliw siifet @t aaeton [Option ID = 21054]

Create new doctrine/srr Bigia dgetrerr [Option ID = 21055]

A comprehensive global agrement/v® =mue dffae wisiar oer [Option ID = 21056]

A w N =

Correct Answer :-
e Establishment of tribunals/yiférasuii &t Femueir [Option ID = 21053]

5) Read the passage carefully and answer the questions that follow

The fear that new technology if abused or misused may lead to irreparable loss and destruction of mankind leaves us with
the crucial question as to why human cloning should be allowed at all? The unbridled and unchecked power of science can
lead to the creation of multiple Hitlers and Mussolinis, genetic discrimination, genetic blackmailing and threaten our privacy
and security. Since we now have the technology which has the ability to alter life on earth and threaten the very survival
we have to decide about the kind of world we want to live in. Let's make no mistake that gene technology has the power to
not only cure us but also, if not properly regulated to even destroy us. What kind of future do we want for ourselves and for
our future generation? The policymakers, the scientists, the heads of governments and the lay public should collectively
discuss the ways to regulate cloning techniques since the issues of reproduction and the moral status of embryos impact the
very meaning of 'life’ for humans. Thus, we urgently need a comprehensive global agreement for the regulation of human
cloning issues. Hence, an urgent UN-sponsored international summit on biotechnology followed by an international
agreement is called for, so that mankind controls and regulates gene technology before it starts playing havoc with human
nature and human life.



forgotferfiac srerior @ earogde ufeu iz 3y s1e gesil Iaz v :

Iz 32 o5 afe orf Gienf3rdbl T gHURINGT AT ST SIAAICT Bl 3 dl 3AD BerRasU Aleld Sifer &t srgzoffer gifer siiz femor 8t wrasdr 3 521 goat a1
Slodl Sl 8 b dreta aretifsia1 bl arogafer <t & =il st ? farsirer & forzaper wd A3 Al 9Ifp @ DRI Seldlold fBcer siiz gAlferofl Uar 8 JAda
3, 3Moldidre NGHId Bl APl 3, 3MAidrD scic Afeidl 3l Al 3 3R sART gradeil sk IReN D fo1u WaRI Ucl 3l Addl 3 3M AR URT WAl
Glenf3rehl disic 3 forerdl gedt Uz Shtaer @I goct ot di 8l o1dl afew same sif¥Fara ®f & Ta? 3 sicrel &I gEraT 3 sAfIT 331 As TR DI B o
&3 fopa1 o & fara 3 Jeon ared &3 $A a1 DI o1l Ycton Anfde b Sfior Yienidrbt & ura a3 St w2l &t & ol afew, Afe g wu A
forziatol ot 8l, Al a3 oicc 2ol bl 9f g 3 91 31U forg s difeal @ fere bt ave @1 sifaesa amed & ? ofifer forarfansil, dsmforl, rocreett
3iI? 3119 SToIeI I acllfoidl Amolldl @ forwEIel @ adlel u? ARR® WU A Tal ol aifde e Ysiolel & Hel vd 9ol & sifere ¥R A ARl D
ferd "Sfidet’ @1 A @ 3ref & Yanfa e 3 3rax: 33t FHrora aciifoisl B foRIACT 3 3 TP UG APAD AT DI AR AR 3 3 YDR
MAYADAI 3 a1 Dl 3 b Sia GienBIbl uR Y I, SRI YrRIIRIA v siaricd fOraR AFdiciol gern ST ik BRI a6 e siaeisda
Harsiiar sft 31 SRR 5 391 usa 15 Sfior qienf3rdht airera snfer 3w forifere itz formrer @2 o

Who of the following are not supposed to be stakeholders in decision-making?

foruirot 3t fanordt et oiél Bloft anfdw ?

[Question ID = 5265][Question Description = S2_qSNz_PG_HRD_Q100]
Scientists/dsmforet 6t [Option ID = 21057]

Policy Makers/afifer forafasii &bt [Option ID = 21058]

Heads of Governments/3mgrezieti &6t [Option ID = 21059]

Corporates/fommil &1 [Option ID = 21060]

A w N =

Correct Answer :-
e Scientists/dsmferat &1 [Option ID = 21057]





